22/MIV/M-2023-06 Booklet Series

Candidate’s Roll Number g
A :
°
Question Booklet @
LANGUAGE, GENERAL STUDIES AND
SOCIAL SCIENCE
[Time Allowed : 2:30 Hours] [Maximum Marks : 150]

Read the following instructions carefully before you begin to answer the questions.

10.

11.

12.

IMPORTANT INSTRUCTIONS

. This Question Booklet contains questions of Language (Qualifying), General Studies and Social

Science which includes History, Geography, Economics and Political Science subject. Choose
the questions from any two subjects out of four subjects of Social Science. At least one subject
History OR Geography is mandatory.

. Part-I, Language (Qualifying) consists of Question Nos. 1 to 30, Part-II, General Studies

consists of Question Nos. 31 to 70 and Part-III, History consists of Question Nos. H-1 to H-40,
Part-III, Geography consists of Question Nos. G-1 to G-40, Part-III, Economics consists of
Question Nos. E-1 to E-40 and Part-III Political Science consists of Question Nos. P-1 to P-40.
The questions and their responses are printed in English and Hindi versions both of Part-II and
Part-III.

. All questions carry equal marks.
. Immediately after commencement of the examination, you should check up your Question

Booklet and ensure that the Question Booklet Series is printed on the top right-hand corner
of the Booklet. Please check that the Booklet contains 80 printed pages including four
pages (Page Nos. 76 to 79) for Rough Work and no page or question is missing or unprinted
or torn or repeated. If you find any defect in this Booklet, get it replaced immediately by a
complete Booklet of the same series.

. You must write your Roll Number in the space provided on the top of this page. Do not write

anything else on the Question Booklet.

. An Answer Sheet will be supplied to you separately by the Invigilator to mark the answers. You

must write your Name and other particulars in the space provided on Page-1 of the Answer
Sheet provided, failing which your Answer Sheet will not be evaluated.

. You should encode your Roll Number and the Question Booklet Series A, B, C or D as it is

printed on the top right-hand corner of the Question Booklet with Black/Blue ink ballpoint pen in
the space provided on Page-2 of your Answer Sheet. If you do not encode or fail to encode the
correct series of your Question Booklet, your Answer Sheet will not be evaluated correctly.

. Each question comprises of five responses—(A), (B), (C), (D) and (E). You are to select ONLY ONE

correct response and mark it in your Answer Sheet. Your total marks will depend on the number
of correct responses marked by you in the Answer Sheet.

In the Answer Sheet, there are five circles—@), B), ©, ©® and ® against each question. To
answer the questions, you are to mark with Black/Blue ink ballpoint pen ONLY ONE circle of your
choice for each question. Select only one response for each question and mark it in your Answer
Sheet. If you mark more than one answer for one question, the answer will be treated as wrong.
Use Black/Blue ink ballpoint pen only to mark the answer in the Answer Sheet. Any erasure
or change is not allowed.

You should not remove or tear off any sheet from the Question Booklet. You are not allowed to
take this Question Booklet and the Answer Sheet out of the Examination Hall during the
examination. After the examination has concluded, you must hand over your Answer Sheet
to the Invigilator. Thereafter, you are permitted to take away the Question Booklet with you.
Failure to comply with any of the above instructions will render you liable to such action or
penalty as the Commission may decide at their discretion.

Candidates must assure before leaving the Examination Hall that their Answer Sheets will be kept
in Self Adhesive LDPE Bag and completely packed/sealed in their presence.

e & orget o feedt wureax zw gfeersen o arfeam gm w20 N0 O



PART—I
( LANGUAGE )

Directions (Q. Nos. 1 and 2) : Fill in
the blanks with suitable articles like

€~ 3
a 2

1.

4.

an’ and ‘the’ :

Sarita is going to join as
BDO.

(A) the
B) a
(C) an

(D) More than one of the above
(E) None of the above

Washington Post is the
most read newspaper in the
USA.

(A) The
(B) A
(C) An

(D) More than one of the above
(E) None of the above

Which of the following is not
a part of kitchen?

(A) Bucket
(B) Geyser
(€) Tap

(D) More than one of the above
(E) None of the above

Which among the
is not a fruit?

(A) Carrot

(B) Turnip

(C) Beetroot

(D) More than one of the above
(E) None of the above

following
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5.

Look there are in the

water.

(A) birds

(B) butterflies

(C) tadpoles

(D) More than one of the above

(E) None of the above

A year is called leap year if it has
(A) more days in a month

(B) more days in weeks

(C) less days in a month

(D) More than one of the above

(E) None of the above

Son of brother is known as
(A) nephew

(B) cousin

(C) sibling

(D) More than one of the above

(E) None of the above

Father’s sister is known as

(A) mausi

(B) sister-in-law

(C) cousin

(D) More than one of the above

(E) None of the above



10.

11.

12.

FA-H aieft e gl e’ 3uam &%
Feia 3Tt 27

(A) <@

(B) Hureft

(C) Tearcft

(D) 3w 6 | TH A Afh
(E) 3udth § & #1$ T

‘pettsl’ forg ST Y Sieft 27
() w=ff fedt

(B) dfat fe=t

(C) forrt

(D) 30w W | TH § AfUh
(E) 394 # ¥ hIg T

B q@ F AGI-ASEH FEAT A F
e wdier gerew §

(A) T AT

(B) faa =1 ar1g e

(C) =T T e

(D) 30w § | TH § Al

(E) 3udth # @ 1$ T

godierE 3 ‘Hfadeet’ # = e
oo 8 Y 27

(A) Aforeft

(B) 3aedt

(C) ST

(D) 3w U | TH § Afh

(E) 394 # & hrg 7
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13.

14.

15.

16.

Tt Ui ferat aiforat 2Tt
g7

(A) =

(B) |

(C) =

(D) 39w | ¥ UH ¥ M+

(E) 394 # ¥ HIg T

el it W ‘Artificial Dialect’
(Fhm Freft) forae a1 287

(A) SISt 1emen firea

(B) fircmrrsee

(C) Tmaf g arEf

(D) 39w | ¥ UH ¥ M+

(E) 3udth § & 1$ T

TErt’ IuWTET % Add wH-H Sreft
TE et 77

(A) eff werEt

(B) weA werel

(C) dfert werel

(D) 39w | ¥ UH ¥ M+

(E) 3udth # & #1$ T

‘TfRet’ & T o= AW @ off g
STTar 27

(A) feedt

(B) fe&

(C) fergeart

(D) 39w | ¥ UH ¥ M+
(E) ST @ 4 &5 7

(IFREANTIELNN TR mnmwm e, . o.



17.

18.

19.

20.

fr=fafaa & @ F9-u1 33 7 27
(A) Tne

(B) et

(C) ranerdt

(D) 39w H ¥ UH ¥ M

(E) 3udth # & #1$ T

“Fater & wf-foese ®
(A) &1+ @

(B) & + 3a

(C) 7@ + Zer

(D) 39w H ¥ UH ¥ M+
(E) 3udth # & r$ T

‘] 1 AT T ©
(A) =

(B)

(C) Ffeeram

(D) 39w | ¥ UH ¥ M
(E) 3w & & 18 7t

‘S S sfaerd % 9o w1 & A %

foTu o w7z @

(A) eI

(B) Ufererieen

(C) =

(D) 30w W | TH § AfUh
(E) Sudth # & 1S T
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21.

22.

23.

24.

‘i’ fore wTsa 1 qETEET 27
(A) =™

(B) IR

(C) TeR

(D) 39w | ¥ TH & i

(E) 3udth # @ 1g T

wafa i gfe & F-w 3w w2
(A) dh—afft

(B) 3UT—3H

(C) sHT-gm

(D) 39y | ¥ TH ¥ M=

(E) 3udth § @ *1$ T

“qTeheiR’ Teg | FHH-|1 THE 27
(A) STHvE

(B) dcgR

(C) 33

(D) 39y H ¥ TH ¥ M
(E) 3wt § & #1g T

frefafaa & @ F9-a1 a9 g8 27
(A) i % e T |

(B) =19 %1 U ¥=E Tied fira|
(C) <9 T gd & 3TErft 3T 2|
(D) 39w | ¥ TH ¥ M

(E) 3udth # & #1$ T

S LU g i g



25. ‘% @& 4 I I femn)’ g A

T R

(A) @

(B) @&

(C) fergior

(D) 39y | ¥ TH ¥ M

(E) 37 | ¥ *1E e

26. ‘g ek form o # foRen-ferior

9 § TH AT 27

(A) Gt Y FHeuT el 2|

(B) I =1 foha G 2!

(C) ¥ TSH 9gd Y& foraar 2|
(D) 39w H ¥ TH ¥ M
(E) 39w & & &g 7

27. 9RA I T TR ST 2
(A) "ERd
(B) dIfal
(C) afua
(D) 39w | ¥ UH ¥ M
(E) 39w & & &g 7
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28. fr=fafga 4 4 snfoar=es 93 w=-t

29.

30.

27

(A) T

(B) =%

(C) T

(D) 39w H ¥ UH ¥ M
(E) 39w & & &8 7

frfafaa 4 @ ®F-91 IT9gEy 9™
27

(A) gH

(B) ¥®

(©) #

(D) 39w W | TH § Afh
(E) 3udth # & 1S T

“Tfea st § Hiewd w = 21
T H T R 1 @ B

(A) Z=BTEIE feam

(B) <A@k T
(GRRUSEICERERI

(D) 39w | ¥ TH ¥ M=
(E) 3udth # & 1$ T

(IFREANTIELNN 0w m e, . o.



31.

32.

PART—II
( GENERAL STUDIES )

In a shop, the cost of 2 pencils
and 3 erasers is 9 and the
cost of 4 pencils and 6 erasers
is ¥ 18. What is the cost of each
pencil and each eraser?

(A) The cost of each pencil is
¥1 and the cost of each
eraser is €2

(B) The cost of each pencil is
¥2 and the cost of each
eraser is ¥1

(C) The cost of each pencil is
¥3 and the cost of each
eraser is ¥2

(D) More than one of the above

(E) None of the above

The average age of 4 sisters is
7 years. If we add the age of
mother, then the average age
is increased by 6 years. The age
of the mother is

(A) 37 years
(B) 42 years
(C) 34 years
(D) More than one of the above

(E) None of the above
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33. The volume of the right prism

34.

with an area of base 121 m? and
height 23 m is

(A) 5.26 m°

(B) 2783 m?3

(C) 529 m3

(D) More than one of the above

(E) None of the above

How many prime numbers are
there between 1 and 507?

(A) 10
(B) 15
(C) 21

(D) More than one of the above

(E) None of the above



31.

32.

PART—II

( GENERAL STUDIES )

TF gHM | 2 U 3R 3 W A FHmd
9 quT 4 Uffst 3 6 WR Hit Fiud
¥ 18 B A% Ul 3R T WA
FHiTa o B7

(A) &% Ufaa f Fdma T1oaun
ek T hl hiAd €2

(B) Y% Ufew @t diga T2 qo
Yk W hiHa 1 2

(C) v Ufea &t dma T3 dun
e T ol hiHa T2

(D) 39Y® | ¥ TH ¥ M

(E) 37 & ¥ 18 T

4 Tt 1 oftwa oy 7 a9 B AR &
o o 1 oemg Sie 3, d sfiea ey
6 99 &g STt 7| | i A Bl

(A) 37 a9

(B) 42 =4

(C) 34 =

(D) 39y H ¥ TH ¥ M

(E) 37 & & 18 e
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33.

34.

121 =t e MUR &9 3R 23 HieX
TS It ot TUSH o1 3Tae ©

(A) 5-26 =9 HX
(B) 2783 =4 Wi
(C) 529 = i
(D) 39w W | TH § Afh

(E) 37 | ¥ 18

1 3R 50 =& = fohadl 3rva™T et
Tt 27

(A) 10
B) 15
(©) 21
(D) 39 U | UH ¥ Al

(E) 37 & & 18 e

(IFREANTIELNN 0w m e, . o.



35. The value of 1/M is 37.
0-00005329

35
(A) =3
45
B) 53
55
©) 33

(D) More than one of the above

(E) None of the above

36. If x, y and z are positive real
numbers, then ?/3125x10y5z10

is equal to

(A) 5x2yz2
(B) 25x3y2z
(@] 125x2yz2

(D) More than one of the above

(E) None of the above

38.

If 3tan6 = 4, then evaluate

3sin®+2cosb
3sin® —-2cosO

A) 1
(B) 2
(C) 0

(D) More than one of the above

(E) None of the above

A solid piece of iron in the form
of a cuboid of dimensions
(49 cm x 33 cm x 24 cm) is
moulded to form a solid sphere.
The radius of the sphere is

(A) 19 cm
(B) 23 cm
(C) 21 cm

(D) More than one of the above

(E) None of the above
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0-00001225 37. IR 3tanB =47, @
35. | —————————HUAET
0-00005329

3sin®+2cos6

(A) 35 3sinb -2cosH
73
45 T YeATeh hIfSTT |
(B) 93
(A) 1
(©) 55 B) 2
23
€) O

(D) 3w A A @ e (D) < & @

(E) 394 # & rg 7 (E) 3w # & g 7

36. A x, y IR z YA TTEdfash TEATd

38. TR ® TH 3 HS (49 To Hio x

ﬁ,aﬁ§/3125x10y5210 S B 33 %o o x 24 Fo Ho) A A
Teh O o AHRR H 2| Ul @Teiohl

(A) SxPyz” Th 3 Ml SR S ' M
IEERIR

3,2

B 2y (A) 19 o o

(C) 125x2yz> (B) 23 Wo Ho
(C) 21 Ho o

(D) 39y H ¥ TH ¥ M
(D) 3w U | UH A Afh

(E) 3w & & Hrg T (E) 393 & & g T
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39.

40.

41.
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In nuclear reactors, D50 is used 42.
as

(A) fuel

(B) source of deuterons

(C) moderator

(D) More than one of the above

(E) None of the above

Lacteals are concerned with 43.
(A) production of milk

(B) secretion of lactic acid

(C) absorption of fats

(D) More than one of the above

(E) None of the above

Which branch of botany is
concerned with the study of 44.

photosynthesis?

(A) Plant Taxonomy

(B) Ecology

(C) Plant Physiology

(D) More than one of the above
(E) None of the above

10

The study of inheritance from
one generation to another is
known as

(A) genetics

(B) microbiology

(C) cytology

(D) More than one of the above
(E) None of the above

Which pigment is essential for
nitrogen fixation by leguminous
plants?

(A) Anthocyanin

(B) Leghaemoglobin

(C) Phycocyanin

(D) More than one of the above
(E) None of the above

The enzyme which is mixed with
food in our mouth is

(A) pepsin

(B) peroxidase

(C) amylase

(D) More than one of the above
(E) None of the above



39. i fugeti § D,O &1 3TN Fral

g

(A) T HETH

(B) SIUAI o HId & &9 H
(C) Hesh & ®9H

(D) 3w U | TH A Al
(E) 3w & @ 18 7t

40. “Fie fefafad § 8 ey wefea

e 87

(A)  gra-Icare

(B) <ifdess mct-wma

(C) =@ a9

(D) 39w H ¥ UH ¥ M+
(E) Sudeh # & 1S 7

41. THER-GIAGT h AIT O Hetud

gt -foq i T §
(A) ey Fffd

(B) it

(C) dTeq et

(D) 3w # & U @ arfern
(E) 39w # & &g 7
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42. wF W@ ¥ @ fid § Swmia &

43.

44,

AT 1 hEd ¢

(A) AR

(B) g&H-SAfereht

(C) =Hifrh1-fo

(D) 3w U | TH A Al
(E) 39w & & &g T

TG dtel W ArgeeH e &
U T -=1 Juishs TEvas 27

IR RIIRIEE

(B) eTEHIEIfsH

(C) rEhrarIH

(D) 39w H ¥ UH ¥ M+
(E) 3udeh # & 1S 7

I8 USTEH, S BAR §g H oW k@Y
forern &, @

(A) ufees

(B) WaTaEeH

(C) wwTEerSt

(D) 39w | ¥ TH ¥ i
(E) 39w # & &g 7

11 (R m e, . o.



45, A1203281022H20 is the
chemical formula for

(A) monazite

(B) china clay

(C) sand

(D) More than one of the above

(E) None of the above

46. An animal that chiefly eats meat
is called as

(A) omnivore

(B) carnivore

(C) herbivore

(D) More than one of the above

(E) None of the above
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47. DigiYatra’ was not started at
which airport on 1st December,
20227

48.

49.

(A)
(B)
(C)
(D)

(E)

Bengaluru

Raipur

Varanasi

More than one of the above

None of the above

Who was the Chief Guest on
the Republic Day, 26th January,

2023?

(A) Rishi Sunak

(B) J. R. Biden

(C) Abdel Fattah el-Sisi

(D) More than one of the above
(E) None of the above

Where was the 5th European
Union-India Competition Week,

2022 held?

(A) Mumbai

(B) Bengaluru

(C) New Delhi

(D) More than one of the above

(E)

None of the above



45. Al,03-2Si0, -2 H,0 fF=fafad &

46.

U ferueRt TETIf O 27
(A) HHTIEE

(B) =t fadh

(C) @

(D) 3w W | TH ¥ Afh

(E) 3w & 9 18 7

I8 IEE, S gEdd: WE @l ©
frfafaa & @ @ wgam 27

(A) HFER

(B) IR

(C) BfER

(D) 39w H ¥ TH ¥ M+

(E) 37 & & 18 T
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47.

48.

49,

1 fegrsr, 2022 i T8 a1 3@ W
RPN AR

(A) T

(B) TR

(C) =mmrEh

(D) 39w U | TH § Afh
(E) 39w & & &g T

e fea|, 26 S, 2023 H g
safafsr =6 97

(A) R g

(B) Sfo 3o aged

(C) 3Teed g - Toe
(D) 39w H ¥ UH ¥ M+
(E) 3udth # & 1S T

5af FdE FE-wRd A guiE,
2022 el s forar mam on?

(A) =

(B) T

(C) = T

(D) 39w | ¥ TH ¥ i
(E) 39w # & I8 7
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50. Who was the Project Director 52.

for ISRO’s Aditya-L1 Mission,
launched on 2nd September,
2023 to study the Sun?

(A) Sankarasubramanian K.

(B) P. Veeramuthuvel

(C) Nigar Shaji

(D) More than one of the above

(E) None of the above

51. Which State Legislature in the
USA became the first State that
has voted to outlaw discrimina-
tion based on caste for people of
South Asian descent who allege
that they have been left out of

traditional American safeguards 54.

for fairness in employment and
housing?

(A) California

(B) New York

(C) Mississippi

(D) More than one of the above

(E) None of the above

53.

Which country has recently
announced the successful
eradication of ‘Rubella’?

(A) Cuba
(B) Bolivia
(C) Bhutan

(D) More than one of the above

(E) None of the above

Who has been awarded the
‘Legion of Merit’® Award by
the USA?

(A) General Dalbir Singh Suhag
(B) General Bipin Rawat

(C) Roy Bucher

(D) More than one of the above

(E) None of the above

What is the purpose of ‘India
Pride Project™?

(A) To provide justice to the
Indians living in foreign
countries

(B) To provide justice to women
who have been divorced by
NRIs

(C) Bringing Indian heritage
back to India

(D) More than one of the above

(E) None of the above
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50. T H JEA A * fow 2 Faew,

51.

2023 &l &g T TT TE F I -
L1 T & gfEsn e g 97

(A) TIRTgSH 2 o

(B) o e

(C) TR =t

(D) 3w U | TH A Afh

(E) 37 | ¥ 18 e

gh 59 SWRER H o o@mE-"l TS
Toenfrem Tgen Tsg =9 e e gfao
fyErE g % i % forg sifa & emem
W HewrE I e Ffvd F % fow
USR 3 37eE 8 fAwerar & fog
URARE STHICH GRa Ul | STel Tl
T 27

(A)  HfcTwrtan

(B) =

(C) Tufafadt

(D) 39y | ¥ TH ¥ M

(E) 37 & & 18 e
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52. T & H FE o 7 TS F AHA

53.

54.

I I T At 27

(A) s

(B) siferfera

(C) wem

(D) 39w | ¥ TH ¥ 3=
(E) 30 ¥ & &g T

e g Sfiem afe Afe’ wwe
ol feam man?

(A) S TR T gem
(B) S fofu= Taa

(C) TR

(D) 39w | ¥ TH ¥ M
(E) 3udth # & 1S T

‘3feen WS WS W 3T @

(A) fogei § ® ® wRdEl @ =™
AESIE

(B) Tlo Mo 3Eo TR URE®
Hgetret st = feem

(C) Wt forredt =l aToE Ra T
(D) 39w | ¥ UH ¥ 1M+
(E) 3w H © %18 T
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55. Which of the following is not

56.

57.

58.

young fold mountain?

(A) Aravallis

(B) Andes

(C) Appalachians

(D) More than one of the above

(E) None of the above

Which of the following areas has
the lower snow line?

(A) Equatorial region

(B) Himalayan region

(C) Alps region

(D) More than one of the above
(E) None of the above

The Tropic of Cancer covers
the maximum area of

(A) Ranchi Plateau

(B) Malwa Plateau

(C) Chota Nagpur Plateau

(D) More than one of the above

(E) None of the above

Thorn forests are not found in
(A) Karnataka

(B) Andhra Pradesh

(C) Tamil Nadu

(D) More than one of the above

(E) None of the above
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59. Which State has

60.

61.

62.

maximum
laterite soil?

(A) Uttar Pradesh

(B) Bihar

(C) Meghalaya

(D) More than one of the above

(E) None of the above

Name the country who will host
the first G21.

(A) France
(B) Japan
(C) Brazil

(D) More than one of the above
(E) None of the above

Which of the following
instruments is used for
measuring humidity in the air?

(A) Aerometer

(B) Hydrometer

(C) Hygrometer

(D) More than one of the above

(E) None of the above

Which of the following blows
from Mediterranean Sea to the
Northwest part of India?

(A) Western Disturbance

(B) Norwester

(C) Mango Shower

(D) More than one of the above

(E) None of the above



55. fmfafed & @ ®F-w1 ga1 afad wda 59. fu U591 gow wiftre devge fidt 27

& 87 (A) 3 T

(A) e (B) feer

(B) TN (C) Heer™

(C) wTwifirm (D) 3T & & wF ¥

(D) 393 # & T & 31k (E) 394w & & &8 T

(E) 3w & @ 18 7t

60. 3IW I H AW TR, ST TEd G21 6

56. ffafad &= & @ fraeht =7 few Tan ﬁwjﬁ‘ml

87 (A) ™

() e i (B)

(B) Temmerdt &= © Wﬁa‘

©) st (D) w@aﬁ@wﬁﬁw

(D) 39w W | TH § AfIh (E), w3 3 e e

(E) 3w | © *1E Tl 61. o § Tt A % fou Frefefaa § @

ore Su=RToT =T 39T TR ST 27

57. h-T@ R T & ea1ed 2 (A) TR

(A) et TBR (B) eTEgHiX

(B) WedT SR (C) wrgumHER

(C) BreT TR TR il (D) 7Y H § TH ¥ A

(D) 30w § ¥ 1F & (E) 3w & & g e

(E) 3udth # & 1S 7

62. f=fafiad & ¥ HH-61/€ YA dR

e it N o
58. R Ser A T 9§ e o

<1 /et 87
(A) e A (A) it frai
(B) Y wew § (B) e
(C) dftcrrg # (C) wHET & Teal 1 A
(D) Sugth @ & TH @ Aferh (D) I § & uF @ e
(E) Sudth # & #1$ T (E) 37 & & 18 e
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63.

64.

65.

66.

Under whose leadership did the
Santhal Rebellion of 1855-1856
take place?

(A) Raj Kumar Shukla

(B) S. N. Sinha

(C) Sahajanand Saraswati

(D) More than one of the above

(E) None of the above

Which important event took
place on 5th March, 1931?

(A) Gandhi-Irwin Pact

(B) Gandhi attended the Round
Table Conference

(C) Karachi Congress
(D) More than one of the above
(E) None of the above

When did the Bihar Youth
League come into existence?

(A) 1930
(B) 1928
(C) 1940
(D) More than one of the above

(E) None of the above

Who led the Salt Satyagraha on
6th April, 1930 in Champaran?

(A) Bepin Behari Varma

(B) Laxmi Narayan Jha

(C) Ramlal Prasad

(D) More than one of the above

(E) None of the above
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67.

68.

69.

70.

When was the
signed?

(A) 24th September, 1932
(B) 24th September, 1930
(C) 26th September, 1930
(D) More than one of the above

(E) None of the above

Poona Pact

Who led the 1857 Revolt in
Bihar?

(A) Mir Bakhsh

(B) Babu Kunwar Singh

(C) Birbhan Singh

(D) More than one of the above

(E) None of the above

At which of the following
Sessions of the Indian National
Congress did the Champaran
trouble come up for discussion?

(A) Calcutta, 1911

(B) Patna, 1912

(C) Ramgarh, 1940

(D) More than one of the above

(E) None of the above

Who gave the famous slogan
‘Inquilab Zindabad’?

(A) Hakim Ajmal Khan

(B) Chandra Shekhar Azad
(C) Hasrat Mohani

(D) More than one of the above

(E) None of the above



63

64.

65.

66.

o g # wue fadre,
1855-1856 g37

(A) TSTHHR A

(B) wdo THo Tzl

(C) HEsTHe Tl

(D) 39w H ¥ UH ¥ 1M+

(E) 393t o & 18 7

5 #T€, 1931 &l HH-H Fg@qul =
ik

(A)  itei-gefer wwEian

(B) Tieft =T TS e § ST o
(C) == Hid|

(D) 3w U | TH ° Afh

(E) 3w & @ 18 7t

formm g1 i 1 e e gam?
(A) 1930

(B) 1928

(C) 1940

(D) 3 | § TF ¥ Al
(E) 3w ¥ 9 18 T

6 3@, 1930 I TURU H 9%
TR 1 "qcd fohee fopam?

(A) faftm foerdt amt

(B) wI&Ht TR 3

(C) THATA JHTS

(D) 39w | ¥ TH ¥ M
(E) 3udth # & #1$ T
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67.

68.

69.

70.

T TSI T EETER e foR Y
(A) 24 fhamr, 1932

(B) 24 f&awr, 1930

(C) 26 faamr, 1930

(D) 39Y® | ¥ TH ¥ 1M

(E) 3wt § & 1S T

1857 & fage # fogr =1 Agca forem
Tera?

(A) HR T

(B) = Fer foe

(C) s fire

(D) 39Y® | ¥ TH ¥ M
(E) 3udeh # & 1S 7

IR ¥ 0w & R erftewE A
TYROT GHET, == 1 fouT oATY

(A) sheteer, 1911
(B) e, 1912

(C) TG, 1940

(D) = & & U @ st
(E) 3udth § & 1S T

HRIEL W “geohettel foiarea’ fope faan?
(A) ThHH THA @H

(B) <ERIT R

(C) oo HigHt

(D) 3w W | TH § Afh

(E) Sudth # & #1$ T
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PART—III

( HISTORY )

H-1. Which of the following H-4. Who wrote the Declaration of
European countries started American Independence?
geographical exploration which
resulted in the colonization of (A) Thomas Jefferson
America, Asia and Africa?

(B) Robert Lee
(A) Portugal and Spain
(C) Abraham Lincoln
(B) France and England
(D) More than one of the above
(C) Germany and Italy
(D) More than one of the above (E) None of the above
(E) None of the above
H-5. The intellectual linked to the
. . French Revolution was

H-2. What is the  traditional
explanation of the early (A) Rousseau
geographical explorations?

i (B) Montesquieu
(A) Economic causes
(B) Search for new territories (C) Voltaire
(C) Expansion of Christianity (D) More than one of the above
(D) More than one of the above (E) None of the above
(E) None of the above
H-6. The Great Depression was the
H-3. When was the incident of period of
‘Boston Tea Party’ occurred?
(A) economic crisis
(A) 1775
(B) religious crisis
B) 1777
) 1773 (C) social crisis
(D) More than one of the above (D) More than one of the above
(E) None of the above (E) None of the above
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H-2.

H-3.

PART—III

( HISTORY )
H-1. ®F-4 U™ o 4 odmifas @

T Y, fSee emfem, wiien ww
STSHIERT 1 STAERARIT TR G217

(A) g T T

(B) %¥ UH ¥ €

(C) i wa geeft

(D) 3Ww H ¥ TF ¥ ik
(E) 3T # & i Tl

URfFTeR fmfetss @St o1 TFRET A7d
F2?

(A) 3T RO

(B) T &t il @il

(C) 36T o =1 TR

(D) 37w | & ° Aleh
(E) 393 o & 18 T

e 2 Ul o HeA e g3 o
(A) 1775

(B) 1777

(C) 1773

(D) 3w H & TF | ik
(E) Swith d & =g 7

22 /MIV/M-2023-06/S2 (M)/06-A

H-4. ‘omfeh w@asar & 3gamen fhae

H-5.

H-6.

foret?

(A) oTHE SR

(B) T ot

(C) 3men ot

(D) 3w H & T ¥ ik
(E) 30w & @ g 7

i 1 il & wwte ghaste 3
(A) =4

(B) wewry

(C) @

(D) 3IWw H & TH | ik

(E) 39 | 9 &S 7

T feiem (wemE)
o |

(A) i TmEn

pl <plcT

’

(B) enfiier wwen

(C) @I THE

(D) 37w H § & ¥ M
(E) 3w # & i Tl
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H-7. The

H-9.

Ulgulan Revolt in
Jharkhand region was led by

(A) Birsa Munda

(B) Sidhu

(C) Kanhu

(D) More than one of the above

(E) None of the above

Sapha-Har Movement led by
Bhagirath Manjhi was linked to
which tribal community?

(A) Chuar

(B) Santhal

(C) Munda

(D) More than one of the above

(E) None of the above

The reason for decline of the
handicraft industries in India
under the British rule was

(A) competition with machine-
made goods

(B) exploitative policies of the
British Government in
India

(C) excessive taxes on Indian
goods

(D) More than one of the above

(E) None of the above
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H-10.

H-11.

H-12.

Which revenue
introduced by
government in India?

policy was
colonial

(A) Permanent Settlement

(B) Ryotwari Settlement

(C) Mahalwari Settlement

(D) More than one of the above

(E) None of the above

The demand made by Lenin,
known as ‘April Theses’ is

(A) World War I be brought to
an end

(B) land be
peasants

transfered to

(C) banks be nationalized
(D) More than one of the above

(E) None of the above

Which one is the important
feature of Civil Code 1804 or
Napoleonic Code?

(A) Right to Property
(B) Equality before law

(C) No discrimination based
on birth

(D) More than one of the above

(E) None of the above
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H-7. IR@E &3 # IA[@H [958 & H-10. Uil o 3 9Rd § ®F-d

AE A TSR Tt &m i ?

() forEm g (A) Tl e

B) fag (B) Ydardl sarerd

(C) w7 (C) WRTeEN sared

(D) 39w § § & ¥ Al (D) 30w H ¥ TF ¥ i
(E) 3udeh & @ & 7 (E) 3% & & IS e

H-8. iRy Aigh &% Agca H THI-T A=l H-11. <fF &% 3@ Al 7 =i, st elda
F ST O Tt on? ofiferd’ shaeTdl 8, F1 27

(A) v faveg Tmm B =1

(A) TR
(B) Pl o TRl EHI
B =
(B) 9Tt %IT%Q
(C) g

(C) et ol TFFHI BT =ML

(D) SHF 3 ¥ T 1 A (D) I & & Tk @ il

(E) 3% & & IS e (E) 3w & & #r3 &
H-9. fafew 1 & wwdir eeafiied 32 %y oyp fim § @ wm-w fie w1804
T i FRT A 1 Yiifer e et TEE
() TP g & st feree &7
(B) wra # fafesr weapr i guerrt () T 1 SR
et (B) Taferss dwmar
(C) v et o STt (C) <1 % 3TER T dewTa Y A
(D) 39 | § TF ¥ Al (D) 3w | O wF ¥ Al
(E) 30w & & g (E) 30dw # &+ 7
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H-13.

H-14.

H-15.

H-16.

From which place Subhas
Chandra Bose issued his
famous  declaration, ‘Delhi
Chalo™?

(A) Calcutta

(B) Patna

(C) Singapore

(D) More than one of the above
(

E) None of the above

In which Congress Session
was the Resolution on
Non-Cooperation Movement
adopted?

(A) Nagpur Session

(B) Lucknow Session

(C) Surat Session

(D) More than one of the above
(E) None of the above

Which Session of the Indian
National Congress was

presided over by Mahatma
Gandhi?

(A) Gaya, 1922

(B) Belgaon, 1924

(C) Lucknow, 1916

(D) More than one of the above
(E) None of the above

Gandhi’s famous ‘Dandi March’
is popularly known as

(A) Salt Satyagraha

(B) Khilafat Movement

(C) Quit India Movement

(D) More than one of the above
(E) None of the above
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H-17. Who led the Revolt in
Jagdishpur in 183577
(A) Begum Hazrat Mahal
(B) Kunwar Singh
(C) Tatya Tope
(D) More than one of the above
(E) None of the above

H-18. Who founded the ‘Forward
Bloc™
(A) Chittaranjan Das
(B) Subhas Chandra Bose
(C) Jawaharlal Nehru
(D) More than one of the above
(E) None of the above

H-19. Who coined the phrase, ‘Swaraj
is my birthright’?
(A) Bal Gangadhar Tilak
(B) Lala Lajpat Rai
(C) Mahatma Gandhi
(D) More than one of the above
(E) None of the above

H-20. Who set up the Awadh Kisan
Sabha?
(A) Baba Ramchandra Das
(B) Dayananda Saraswati
(C) Birsa Munda
(D) More than one of the above
(E) None of the above
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H-13.

H-14.

H-15.

H-16.

g™ o5 d| 9 fRe wm v gt
Il 1 ITOAT TRIE 3 feRa?

(A) hetehal

(B) T

(C) femyx

(D) 3Ww H ¥ TF ¥ ik
(E) 3wt & 9 i T

org =09 T U TEAN STRIeH A
Hehed foram m?

(A) AT A

(B) @@ U

(C) ¥Xa &

(D) 37w § & T ¥ Afw

(E) 3w | ° &5 e

I T wIm % e ww i
TETeHT Tt 3 3remerdn hi off?

(A) T, 1922

(B) siemmid, 1924

(C) ofas, 1916

(D) 37w W & & ° Alh
(E) 3w & & *18 7
et B ufeg TTE AT R FE-AT
AT Hal STaT 27

(A) T TR

(B) Taemsa saiem

(C) ¥R BIE! 3Tl
(D) 3w H ¥ TF ¥ ik
(E) 3% & & hrg e
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H-17.

H-18.

H-19.

H-20.

1857 @I wifd # fora- SEeTgR #
fage =1 Agca fern?

(A) STH ESRA Hed

(B) = oz

(C) dren 2

(D) 37w U & T U Afw
(E) 3udeh & & *18 7

R ‘“wiae sate it T it oft?
(A) ToiEE T

(B) g9 == a1\

(C) aTEa "%

(D) 3w § | TH § Afh

(E) 304w # & 1< Tl

P T TS g S
arftreRr &7 Rl T i

(A) et TeR et

(B) T STSad T

(C) weTenT Tieht

(D) 39w H § TF ¥ M
(E) 3% & & hrg 72

P sy e & TomoEn i
oft?

(A) TS THER T

(B) I GL&dl

(C) Tor&m g =

(D) 37w W 4 & ° Al
(E) 3wtk # & *1$ 7
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H-21.

H-22.

H-23.

H-24.

Who authored Anandamath?
(A) Dinabandhu Mitra
(B) Rabindranath Tagore

(C) Bankim Chandra
Chattopadhyay

(D) More than one of the above
(E) None of the above

Who led the Civil Disobedience
Movement in Northwest region
of the Indian subcontinent?

(A) Abul Kalam Azad

(B) Shaukat Ansari

(C) Abdul Gaffar Khan

(D) More than one of the above

(E) None of the above

Which place is famous for a
sweet ‘khajha’?

(A) Silao

(B) Bihar Sharif

(C) Chandi

(D) More than one of the above

(E) None of the above

Bhagalpur region is famous for
(A) cotton and silk industries
(B) iron industries

(C) railways

(D) More than one of the above

(E) None of the above
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H-25.

H-26.

H-27.

H-28.

Which one of the following
pairs is correct?

(A) Litchi—Muzaffarpur

(B) Banana—Vaishali

(C) Makhana—Madhubani

(D) More than one of the above

(E) None of the above

Where was the earliest kind of
print technology developed?

(A) China
(B) Japan
(C) Korea
(D) More than one of the above

(E) None of the above

Who opened first Indian Jute
Mill in Calcutta in 1917?

(A) Seth Hukumchand

(B) Dwarkanath Tagore

(C) Jamsetjee Jejeebhoy

(D) More than one of the above
(E) None of the above

What are the ‘Home Charges™?

(A) Interest paid on India’s
external debts

(B) Private remittance by the
British Officials

(C) Pensions of the British

Officials
(D) More than one of the above

(E) None of the above

26 I NN CETINORAREARM RN RN 0RO



H-21.

H-22.

H-23.

H-24.

‘Arems’ i T TR i oft?
A) ey =

(B) WY 3R

(C) =ferm =z wgrmeam

(D) 3IWw H | TF | ik
(E) 3wtk # & 18 7

A IUHETET o ST-ufved & o
Hﬁ:ﬁq AT HATG[Ad bl Ak ‘oﬁ:r
oaqre

(A) AT helH STSTE
(B) ik 1A

(C) 53 THRR W

(D) 37w U | T U Afw
(E) 3ueh & & *18 7

HH-|1 TIH @S AW 0 % oy
ufrg 87

(a) foar

(B) forer 3w

(C) =

(D) 37w U | & U s

(E) 3ueh & & *18 7

IR &7 g 8

(A) wied ud foesh e & fag
(B) wire 3@m % fou

(C) & & ferm

(D) 37w W | & ° Aleh
(E) 3% 7 & hrg T
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H-25.

H-26.

H-27.

H-28.

= § @ ®=-u1 3m e 27
(8)  reft—gsrRgR

(B) Shell—aTTedt

(C) EmT—wegeH

(D) 37w © 4 & ° A
(E) 3udeh & & *1$ 7

el T HAYIH DTS qohr1eh bl {hrd
ge?

(A) ==

(B) SITa

(C) it

(D) 3Ww H & T ¥ ik
(E) Swith & & =18 7

1917 # wchdl H Y| WRAE S
forer <t oo foRma o oft?

(A) ©3 TFHI=

(B) BReRMTY MR

(C) wmuestt Sfisfrafa

(D) 37w U | T U Afusw

(E) 3wtk & & 18 7

‘T = e ?

(A) 9Rd & d@ w1 | fEn S ™
ElSIESIS]

(B) fafewr siftmifet =1 =afema
Frfy-TeoT

(C) fafes sfermfen =1 v=m
(D) 3w H & TF | ik
(E) 3w | ¥ *I5 T
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H-29.

H-30.

H-31.

Who painted the portrait of
‘Bharat Mata’ to encourage
Swadeshi Movement?

(A) Abanindranath Tagore

(B) Rabindranath Tagore

(C) Debendranath Tagore

(D) More than one of the above

(E) None of the above

Who founded the secret society
Young Italy’?

(A) Mazzini

(B) Emmanuel II

(C) Garibaldi

(D) More than one of the above

(E) None of the above

During the Non-Cooperation
Movement of 1920 AD, who
was a strong opponent of the
principle of boycott of the
Legislative Council?

(A) Motilal Nehru

(B) Chittaranjan Das

(C) Lala Lajpat Rai

(D) More than one of the above

(E) None of the above
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H-32.

H-33.

H-34.

Who said that “the aim of
revolutionaries is not terrorism
but the revolution and the aim
of revolution is the establish-
ment of National Government
in India”?

(A) Bhagat Singh

(B) Subhas Chandra Bose

(C) Bal Gangadhar Tilak

(D) More than one of the above

(E) None of the above

To fulfil the obligation of the
League of Nations, in which
pact, various countries
together declared that the war
should not be made a tool of
national policy?

(A) Kellogg-Briand Pact

(B) Paris Peace Agreement
(C) Small Friendship Treaty
(D) More than one of the above

(E) None of the above

In the context of the Industrial
Revolution, the term ‘Cording’
indicates what?

(A) Exchange of goods

(B) The process by which
cotton or wool is spun

(C) Typical clothing made in
the cities of Lancashire

(D) More than one of the above

(E) None of the above
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H-20. frey @ emiem H dom ¥

H-30.

H-31.

‘vreamTar’ sy afe fafa A ofi?
(A) TS SR

(B) W=t 3R

(C) Ty SR

(D) 39w § § & ¥ Al
(E) 39w o & &8 T

R T gecfl AWe W Geem i
TYTOHAT <Al o ?

(A) wfsH

(B) A II

(C) Mareeh

(D) 3w H ¥ TF | ik
(E) 3wtk # & 18 7

1920 3o & AN AT=IaH & XA
F0E & faum afiwel & afgssw &
fagra =1 = ga faQe ar?

(A) wrdier TEE

(B) o <™

(C) e oASidd T

(D) 3w H & TF ¥ ik
(E) 3% # & hIg T
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H-32. I8 [ &e1 & “wifaemiiat &1 e

H-33.

H-34.

JTdeRaTe TE Mg wifd 3R if=d
R WRA W U WER

T 2777

(A) wa f

(B) 9T =% &\

(C) =t TmeR feeteh

(D) 3IW® § | TH ¥ Al
(E) 3wtk & & 18 7

Y T9 % el @ v % fo fore
e # fafv <o 4 foee T =ifva
forn T ‘g5 w1 wdE Aifd wr swwm
T S S

(A) Fam-foug dae

(B) e wif< wmeiar
(C) g & wfe

(D) 37w ¥ 4 & ° Al
(E) 37w & & 1 T

et wifd & g 4 ‘Fifen’ s
forar 3fTa e 27

(A) X3 & ATTH-TEH I

(B) 3w ufseam =t e shumd am 3.
H FHars N At 7

(C) THIIRR & el § o fafirs ==
Eal

(D) 37w 4 & ° Afeh
(E) 3w | ¥ *I5 T
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H-35.

H-36.

H-37.

Gandhi in His Time and Ours
has been written by whom?

(A) David Hardiman

(B) Sumit Sarkar

(C) Sekhar Bandyopadhyay
(D) More than one of the above

(E) None of the above
How many  Articles and
Chapters are there in the
Constitution Charter of United
Nations Organization (UNO) in
total?

(A) 110 Articles and 20
Chapters

(B) 111 Articles and 19
Chapters

(C) 115 Articles and 25
Chapters

(D) More than one of the above

(E) None of the above

What was the main objective of
‘Bretton Woods Conference’?

(A) Economic stability and full
employment in industrial
world

(B) Bringing global economic
stability through World
Trade Organization

(C) To reduce the financial
crisis caused by Second
World War

(D) More than one of the above
(E) None of the above
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H-38. In which year was the People’s
Republic of China established?
(A) 1910 AD
(B) 1912 AD
(C) 1948 AD
(D) More than one of the above
(E) None of the above
H-39. Which factor played the
supporting role in the rise of
the Industrial Revolution?
(A) Agricultural Revolution
(B) Capital and new
technology
(C) Elimination of trade
restrictions
(D) More than one of the above
(E) None of the above
H-40. Who among the following was
the first Indian Judge in the
International Court of Justice?
(A) Dr. Nagendra Singh
(B) B. N. Rao
(C) Dr. Dalveer Singh
Bhandari
(D) More than one of the above
(E) None of the above
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H-35. Titft 39 f&w 2rzm v smed o

H-36.

H-37.

o 2

(A) <fors BTEEa g1

(B) G R gwT

(C) IRER ST R

(D) 3Ww H ¥ T ¥ ik

(E) 39w 8§ & *I8 e

WY T FA (Fo TWo o) F Hiau™

=R H FA fohad srg=se qun e
&7

(A) 110 3TF=8% a1 20 LA™
(B) 111 31J=8% a1 19 7™
(C) 115 TT=% q1 25 LA™
(D) 3w H & TF | ik
(E) 3ueh & & *18 7
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T U TSR
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(C) fedfm favags @ 3ust anfds
=t 1 HH HEAT

(D) 37w 4 T ° Afeh
(E) ST 9 8 i 7
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H-38. <t ik TR it Toror TR o

H-39.

H-40.

T

(A) 1910 %o

(B) 1912 3o

(C) 1948 30

(D) 3T U 4 & U Afus
(E) 3udeh & & *18 7

‘3Menfires wfa & U™ | fohe s
3 TEwe 6t ofient famft of?

(A) i s

(B) STt dem =ht wenfieht
(C) =R wfdsreri it gHTfy
(D) 37w U | T ¥ Afw
(E) 37 o & 18 T
T Y HE FAUEE FEed §gem
AR =rameier on?

(A) o T Tog

(B) sfto THo =

(C) sfo TordRk firg v =t
(D) 37w ¥ 4 & ° Afuw
(E) v & 4 =g 78
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G-1.

G-3.

PART—III
( GEOGRAPHY )

Which of the following is the
easternmost longitude and
southernmost latitude of India?

(A) 98°15’E and 9°7'N
(B) 97°25’E and 8°4’N
(C) 97°15’E and 8°4’N
(D) More than one of the above

(E) None of the above

Which of the following is a
correct statement?

(A) The land area of India is
3:28 million square km.

(B) India has a land boundary
of 15200 km.

(C) Standard meridian of India
is 82° and 45’E.

(D) More than one of the above

(E) None of the above

Which of the following is
correct in terms of length and
breadth of India?

(A) 3214 km and 2933 km
(B) 3250 km and 2950 km
(C) 2933 km and 3214 km
(D) More than one of the above

(E) None of the above

22 /MIV/M-2023-06/S2 (M)/06-A

G-4. Which of the following
statements relating to Malabar
Coast is correct?

(A) A narrow plain strip is
along the eastern coast of
India.

(B) The western coastal strip
is in south of Goa.

(C) The most of Malabar Coast
is located in Kerala State.

(D) More than one of the above

(E) None of the above

G-5. Which of the following state-
ments regarding the rivers of
South India is correct?

(A) The Narmada River is
flowing south of the
Satpura Range.

(B) The Tapi River is flowing
south of the Satpura
Range.

(C) The Narmada is passing
between the Vindhya and
the Satpura Range.

(D) More than one of the above

(E) None of the above
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G-1.

G-2.

G-3.

PART—III

( GEOGRAPHY )

fafafgd & 9 FH-T1 yRa = g9
ot et 3R ged afauft aremmer 27

(A) 98°15’E 3R 9°7'N
(B) 97°25’E R 8°4’'N
(C) 97°15’E 3R 8°4'N
(D) 37w W 4 & ° Afew
(E) Swith # & =g 7

et # @ F-81 Hom Wl 87

(A) wRA 1 o &Fwa 3-28 faferH
it fomo o B

(B) 9”@ @ Tyl €
15200 o o 7|

(C) ¥R =t A HeaTga@n 82° 3R
45'E %I

(D) 3w H & T ¥ ik
(E) 30w | © *I5 e

i R e
Freaferfian i 1 - T 27

(A) 3214 fwodio 3R 2933
ﬁﬁo Iﬁo

(B) 3250 fako Hio
'%Bo Iﬁo

(C) 2933 fko Hio
]coBo Iﬁo

(D) 37w W | T ° Al
(E) 3T & & =% 7

3 2950

M 3214
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G-4. HIAWR d2 & gay § (Hfcafad § 4

G-5.

FHIF-91 FIH G 27

(A) wRa & gdf de & fFm
gehiot e gt B

(B) e @ sfequr # ufardt @i gt
2l

(C) UICER q 1 STTRIHTIT 9T HA
g ¥ foord B

(D) 3IWw H & TF | 3Afeek

(E) 3w 8§ @ *18 e

o wra fH qfemt F gay #
fafafga 9 9 -9 oA w27

(A) e 7 "ager Aot & feor §
ECRGIRS

(B) dardt & wagsr Avfl % afaor #
ECRGR]

(C) dar, faex iR wayer udqurern
% o= TSR @ R

(D) 30w H ¥ TF ¥ ik

(E) 3w | § *I5 T
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G-6.

G-7.

G-8.

The Himalayas lying between
the Indus and Sutlej Rivers is
known as

(A) Kashmir Himalayas

(B) Kashmir and Himachal

Himalayas
(C) Punjab Himalayas
(D) More than one of the above

(E) None of the above

Which of the following is the

largest inhabited riverine
island of the Brahmaputra
River?

(A) Majuli

(B) Mehrauli
(C) Devalipur
(D) More than one of the above

(E) None of the above

Which of the following is the
largest saltwater lake in India?

(A) Sambhar

(B) Pulicat

(C) Chilika

(D) More than one of the above

(E) None of the above
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G-9.

G-10.

G-11.

Which of the following is the
correct statement regarding
Sundarbans?

(A) Itis the largest delta in the
world.

(B) Its name is derived from
the name of the Sundari
tree.

(C) It is the home of the Royal
Bengal Tiger.

(D) More than one of the above
(E) None of the above

Along which of the following
rivers, Shivanasamudram, the
second largest
India is located?

(A) The Kaveri River

(B) The Krishna River

(C) The Mahanadi River

(D) More than one of the above
(E) None of the above

waterfall in

Which of the following
statements is correct relating to
Coriolis force?

(A) It is originated due to the
rotation of the earth.

(B) It is responsible for the
deflection of winds towards
the right in the northern
hemisphere and towards
the left in the southern
hemisphere.

(C) It is originated due to the
changes in temperature
and pressure of the air.

(D) More than one of the above

(E) None of the above
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G-6. fiyg R waew A& & = fom

G-7.

G-8.

femTera =l a1 ST @

(A) wwR fEmTe

(B) wwR iR fenma femrem
(C) usa femme™

(D) 3T U & T U s
(E) 3udeh & & *18 7

fafafaa & @ F0-w1 sEgr & =
el gl fHarfed =< €9 27

() wrgeft

(B) Wl

(C) @iy

(D) 37w U | T ¥ Afw
(E) 39w o & 18 T
frfafad @ 9 ®F-d 9a & g9y
TS @R aH A 3 =7

(A) TR

(B) gfcrhe

(C) Taem

(D) 37w 4 & U Afw
(E) 3% 7 & hIg T
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. g % ey § fwfafad @ @

FF-HT HYT TE 37
(A) =2 fog %1 o=@ =21 Soar B

(B) TR A Hait Ug AW A form
T2

(C) I WIS ST TR 1 =R 2|
(D) 37w U & T U Afw
(E) 39w 8§ @ *1E e

. FHfAiaa # @ fFa 76 % fFr vma

H O GEH TS S ReAagEn
feorg 27

(A) FTRT T

(B) Fom

(C) werdt

(D) 37w W | & ° Aleh
(E) 3T & & =15 7

. HIRSE 9@ & w99 § fmfatea §

Y FIH-91 KA Gl 27

(A) 3EEh! 3cafd geall o FEH ok HRO
2t 2

(B) & Iq0 Tend # gl % R
AR R ol e § a1 AR
feremon % foru fymier 2 |

(C) TTehl 3o g & dqUHE T
T | aiEdy % HR0 B 7

(D) 37w 4 & ° Afreh
(E) 30w | ¥ *I5 T
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G-12.

G-13.

G-14.

In which of the following States,
Mawsynram, the place of
highest rainfall in the world is
located?

(A) Assam

(B) Meghalaya

(C) Kerala

(D) More than one of the above

(E) None of the above

The natural vegetation in the
area of less than 70 cm of
annual rainfall in India is
described as

(A) tropical monsoon forest
(B) tropical thorn and scrubs
(C) tropical desert forest

(D) More than one of the above

(E) None of the above

In which type of natural
vegetation regime, sandalwoods
are found in India?

(A) Tropical deciduous forest
(B) Tropical mangrove forest
(C) Tropical evergreen forest
(D) More than one of the above

(E) None of the above

22 /MIV/M-2023-06/S2 (M)/06-A

G-15.

G-16.

Which of the following charac-
teristics is related to tropical
evergreen forests in India?

(A) It is concentrated in the
area of high temperature
and high rainfall
200 cm

above

(B) Trees are evergreen, dense,
tall and stratified

(C) All trees shed their leaves
together in a particular
season

(D) More than one of the above

(E) None of the above

Which of the
biosphere

recognized
UNESCO?

following
not
internationally by

reserves is

(A) Nilgiri

(B) Sundarbans

(C) Gulf of Mannar

(D) More than one of the above

(E) None of the above
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G-12. fag 4 gaifes aui aren e fifeam

G-13.

G-14.

fore T & foora 27

(A) orm

(B) wee™

(C) Rt

(D) 39w § § & ¥ Al

(E) 39w o & &8 T

IRd H 70 "o Hio ¥ 7 aTMuek Tl

Il &9 H Uhfdeh aEdfd 19U
fore =9 & o T 27

(A) IR AHYT o

(B) Iwrewfeaa i i gfeat
(C) Iwrhfeaefir et Siret
(D) 37w ¥ 4 T ° Al
(E) 37 o 4 =g 78

IRd § wed fFd TRR I TTRiGE
It § 9 S 27

(A) Iwrhfeasa qofurdt a9
(B) Iwrefeaef™ fma o

(C) Iwrhfeaef HeeEr a
(D) 3w H & TF ¥ ik
(E) 3% # & hIg T
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G-15. f=fafad & @ -9 foivar yra 4

G-16.

Iwrhfeaia TereEr 941 ¥ Geftd 27

(A) J& 200 To Hio ¥ 3ferm 3=
qOEH U 3TfYe aut ot & A
hfgd 2

(B) US WIWER, ¥, S 3R TiHd
K

(C) weft Ug U= fomiw O o wweny
1ot wfert fiea @

(D) 3IWw § | TH ¥ Afh

(E) 3o & & g Tl

frfafiga & @S- sEehrr fisd

IR FRT ATRE T TR A=A T
g a7

(A) afi

(B) g

(C) w=R il @t

(D) 3IWw § | TH ¥ Afh

(E) 3w | 9 *I5 T
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G-17. The

G-18.

G-19.

Rio de Janeiro Earth
Summit, 1992 was convened to
address

(A) the wurgent problems of
environmental protection

(B) the socio-economic develop-
ment at global level

(C) the political crisis of the
developed world

(D) More than one of the above

(E) None of the above

Which of the following is not
renewable resource?

(A) Soil

(B) Wind

(C) Agriculture

(D) More than one of the above

(E) None of the above

Which of the following
related with
protection of deforestation and

community afforestation in
India?

movements is

(A) Beej Bachao Andolan

(B) Navdanya Andolan

(C) Chipko Movement

(D) More than one of the above

(E) None of the above

22 /MIV/M-2023-06/S2 (M)/06-A

G-20. Which of the

G-21.

following

correct
relating to the multipurpose
river project?

statements is not

(A) It is developed for
controlling floods and to
divert the excess water to
water-deficient areas.

(B) It is an integrated plan for
the development of canal
irrigation and generation
of hydroelectricity.

(C) Reservoirs are constructed
for water storage and
development of aqua-
culture.

(D) More than one of the above

(E) None of the above

Which of the following States is
first to make rooftop rainwater
harvesting structure compulsory
to all the houses across the
State?

(A) Meghalaya

(B) Kerala

(C) Tamil Nadu

(D) More than one of the above

(E) None of the above
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G-17. o & sHfen geeft Rmex awed,

G-18.

G-19.

1992 fFusm waiftd & & foau
ENIRIRIRIIIN

(A) THERU WHU A FAEATR
.

(B) afays TR W amiiees-3nides
forepm

(C) fowfta fag =1 Tifaes wehe
(D) 3IWw H ¥ TF ¥ ik
(E) 3w | § *IE e

freafafga & @ #F-w  Ffwwia
a1 TE 27

(A) fugt

(B) =

(C) Ff

(D) 39w H § & ¥ Al

(E) Swi # & =g 7

frfafad & & HH-91 oTideq 9Rd |
AT I e TR AR IR ht
e ¥ Hafd 27

(A) St S TEeH
(B) TEET 3TMEleH

(C) Tau=m e

(D) 3w H & TF | ik
(E) 3wtk # & *1g 7
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G-20. FEIM@ A4 GfESET ok HEg H
fafafea & @ FF-a1 Fom ot T
a7

A) T T w1 fEbE ww e
Afafies ot 1 gt i HE 9T
gai # Hied & fore faefaa foran
™ 2

(B) =g 7TeX fa=md & faem o <id-

foga 3o & fouw ww whia
AISHT B

(C) Stemert =1 fmior Sia Wewe 3R

Sttt iy o foerm o ot foma
STt 2 |

(D) 3IWw § | TH ¥ Al
(E) 3w | ¥ *I5 T
G-21. fF=fafaa § @ -1 o9, TR &

aoft o0 § B9 W I -STd G=ET ST
! I I AT Tt T 87

(A) TETeH

(B) %«

(C) dfHerrg

(D) 3IW® § | TH ¥ Afh

(E) 3w | § *I5 T
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G-22. Which of the following groups
of States is covered by the
benefits of Sardar Sarovar Dam
built over the Narmada River in

Gujarat?

(A) Maharashtra, Gujarat,
Andhra Pradesh and
Madhya Pradesh

(B) Maharashtra, Madhya
Pradesh, Gujarat and
Rajasthan

(C) Karnataka, Gujarat,
Madhya  Pradesh  and
Rajasthan

(D) More than one of the above

(E) None of the above

G-23. Which of the following terms
is used for primitive form of
cultivation in India?

(A) Bewar

(B) Pama Dabi

(C) Milpa

(D) More than one of the above

(E) None of the above

G-24. Which of the following is a

correct match in the context of
shifting cultivation?

(A)
(B)
(©)
(D)
(E)

Milpa—Central America
Conuco—Mexico
Ladang—Central Africa
More than one of the above

None of the above
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G-25. In which of the following places
the Arabica coffee was initially
cultivated in India?

(A) Nilgiri Hill

(B) Baba Budan Hill

(C) Kaimur Hill

(D) More than one of the above

(E) None of the above

G-26. Which of the following groups
of minerals is belonging to non-

metallic category?

(A) Iron ores, copper, silver

(B) Mica, limestone, marble

(C) Nickel, cobalt, platinum

(D) More than one of the above

(E) None of the above

G-27. Which of the following States is

the largest producer of pyrite in
India?

(A) Odisha
(B) Bihar
(C) Jharkhand
(D) More than one of the above

(E) None of the above
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G-22. TS H W ¢ W §H WER TR

G-23.

G-24.

afg % @i § fefefag # & Fa-a
TIgE M 27

(A) WY, TS, Y Jou SR qey
BEN

(B) WEWTEg, Wed WoN, TSRI@ 3R
TS

(C) Hlewh, TeRE, T WS 3R
TS

(D) 37w U | T U Afusw
(E) 3udwh & @ & 7

g H Wdl &% offeq ¥ & fau
fFrefafga § @ -9 wse v fomn
Tar 87

(A) SR

(B) umn e

(C) forem

(D) 3w H ¥ TF ¥ Al
(E) 3wtk & & *18 7
78 Tt % wed #, fefafea & @
H-91 & 7 87

(A) freq—uex i
(B) rEHI—Hfwan!

(C) wEm—uen Thieht
(D) 3w U 4 & U Afusw
(E) 3 4 9 & T
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G-25. 9Rd H, AR § 3Rferh1 bl i Gl

G-26.

G-27.

frafafaa o @ e wm w6 18 A7
(A) fi verEt

(B) TN g5 weTet

(C) R Tt

(D) 37 | § TH ¥ A

(E) 37 & 4 &g 7
frfafaa 9 9 @S 1 wF-91 98
-efege Aoft & wefea 27

(A) g ek, afar, =i

(B) 319, TTICR, HITHIHL

(C) Taora, wraTee, wifean

(D) 37 U & T U Afw

(E) 37 o & 18 T

fefafga 4 @ s9-w1 T~ wa @
TIEUEE 1 Ged o] Icq1eh &7

(A) enfesm

(B) forem

(C) s

(D) 37w 4 & U Afw
(E) v & 4 =g 78
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G-28.

G-29.

G-30.

Where is geothermal energy
harnessing centre located in
India?

(A) Parvati Valley in Himachal
Pradesh

(B) Puga Valley in Ladakh

(C) Aravalli
Rajasthan

Ranges in

(D) More than one of the above

(E) None of the above

Which of the following
statements relating to iron and
steel industry is not correct?

(A) It 1is called as basic
industry.

(B) It is called as light
industry.

(C) It is located in the areas of
proximity of raw materials.

(D) More than one of the above

(E) None of the above

Which of the following extreme
locations are connected by the
east and west corridor in India?
(A) Srinagar (J&K)
Chennai (Tamil Nadu)

(B) Silchar (Assam)
Porbandar (Gujarat)

(C) Dispur (Arunachal Pradesh)
and Porbandar (Gujarat)

and

and

(D) More than one of the above

(E) None of the above
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G-31.

G-32.

G-33.

G-34.

What are Mishmi, Barail and
Lushai?

(A) Hills

(B) Tribes

(C) Rivers and Hills

(D) More than one of the above

(E) None of the above

Which 1is not included in
India’s oldest rocks?

(A) Dharwar System

(B) Cuddapah System

(C) Vindhyan System

(D) More than one of the above

(E) None of the above

Snowline in Assam Himalaya is
(A) 4300 m
(B) 4400 m
(C) 4500 m
(D) More than one of the above

(E) None of the above

The origin point of Penna river
is

(A) Nilgiri (Tamil Nadu)

(B) Sahyadri (Maharashtra)
(C) Nandi Hill (Karnataka)

(D) More than one of the above

(E) None of the above

42 [T e



G-28. WA ¥ arfi Feil dred s el O

G-29.

G-30.

27

(A) Temrae e H dredt =
(B) @ & gm =

(C) TSN T SRt qdanTet
(D) 3IWw H & TF ¥ ik
(E) Swfth d & 1§ 7

e TI THE UM ok Hey H
frefafiad § @ SF-a1 %o gd T
27

(A) 8 g I el S 2 |

(B) 38 wem (light) 3T el Sar
21

(C) T2 F= urad H Fehear ot &=t
7 foorg 31

(D) 37w U 4 T U Afw
(E) 39w 8§ & *18 e

qid # fefafga 8 4 ®9-9 =W

T g 3R afam o) ¥ 93 gu 87

(A) fFR (S oK wei) ok =
(affrerrg)

(B) femr
(T[SRTa)

(C) faqR (Fvmed W) 3R
TREE (T

(D) 37w W | T ° A

(E) 3% & & =g T

HR  IRER

(318m)

22/MIV/M-2023-06/S2 (M)/06-A

G-31.

G-32.

G-33.

G-34.

Toreft, st o7 gams @ 27
(A) werfeal

(B) SHSHferEr

(C) Hfeal 3iR werfeal

(D) 30w H ¥ TF ¥ ik
(E) 39w 8§ & *18 e
A <l TTfHa" FgHl § affifad T8
g

(A) dTETS %H

(B) Few1 A

(C) fTaemm =w

(D) 37w ¥ 4 & ° Afuw
(E) 3udeh & & *18 7

sty feurem @ femian i S ®
(A) 4300 Hrex

(B) 4400 Hix

(C) 4500 HixX

(D) 37w 4 T U Afw
(E) 3wtk & & 18 7

IR TS T 3T WA B
(a) e (qfeers)
(B) @z (Wewy)

(C) =it weTdt (Fieh)
(D) 3w H & TF | ik
(E) 30w & & g e
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G-35.

G-36.

G-37.

In India, the 20 °C isothermal
line of January locates in

(A) parallel to Cancer but to
the South

(B) parallel to Cancer but to
the North

(C) North of Vindhyachal hills
and plateau

(D) More than one of the above

(E) None of the above

In western Himalayas, upper
limit of subtropical vegetation
is

(A) 1500 m MSL
(B) 1510 m MSL
(C) 1524 m MSL
(D) More than one of the above

(E) None of the above

The required annual rainfall for
tropical deciduous forest is

(A) more than 200 cm

(B) 150 cm—-200 cm

(C) 100 cm-150 cm

(D) More than one of the above

(E) None of the above
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G-38. Indian States with maximum
area under tidal forests are
(A) West Bengal and Gujarat
(B) West Bengal and Andhra
Pradesh
(C) West Bengal and Tamil
Nadu
(D) More than one of the above
(E) None of the above
G-39. Mahabharat Lekh Mountain is
situated in
(A) India
(B) Nepal
(C) Bhutan
(D) More than one of the above
(E) None of the above
G-40. Regional division by R. L. Singh
depends on
(A) geological structure
(B) physiographic structure
(C) location
(D) More than one of the above
(E) None of the above
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G-35. SHail "e § wWrd § 20 ferft @o o

G-36.

G-37.

Sl gHATT W1 1 Tored) 7T ST @

(A) Heh-TET %k TEHR foheg afer
|

(B) weh-T@T o FHMRR foheg ST |

(C) faeam=a uerdl iR Ueit e &
IW Y

(D) 37w U | & U Afuw

(E) v & | =g 7

feerft fewrera # SuwERfesi aeafa
¥ forear it 3=ram o 2

(A) Ed TR 9 ¥ 1500 Hex
(B) 3fMd @R 9 ¥ 1510 HieX
(C) 3 OFR act ¥ 1524 HieX
(D) 3W® § & TH ¥ Al

(E) 3udeh & & *18 7
SoERE A Teee o Al
o I 3T TEIRdT Bt 8

(A) 200 o Hro ¥ i

(B) 150 o Hio & 200 o Ho
(C) 100 %o Mo & 150 Ho Ho
(D) 37w U | T U s

(E) 39w o & *18 T
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G-38. 9 H Haifter Saig o9 &9 a1 U9
H

(A) ufvem A SR TR
(B) ufvem st 3R 1Y wem
(C) ufrem smet 37k afierTg
(D) 37w ¥ 4 T ° Afw
(E) 39 | 9 &S 7

G-39. HEWMRA i@ A e fed §
(A) YR #
(B) Ut
(©) pmH
(D) 3T ¥ 4 T U Afusw
(E) 39w o & 18 T
G-40. Mo Tdo f4g 4 9Wd & Wk
faTem % mum o % w9 ° form B
(A) iR T R
(B) i smpfa =1
(C) erafexfa =1
(D) 3T U § T U Afus
(E) 30w # 4 =g 7
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E-1.

E-2.

PART—III

( ECONOMICS )

Infant mortality rate is

(A) the number of children
that die before the age of
one year as a proportion of
1000 live children born in
that particular year

(B) the number of -children
that die before the age of
five years as a proportion
of 1000 live children born
in that particular year

(C) the number of children
under six months that die
as a proportion of 1000 live
children born in that
particular year

(D) More than one of the above

(E) None of the above

The total income of the country
divided by its population is
called

(A) national income

(B) Gross Domestic Product
(GDP)

(C) per capita income
(D) More than one of the above

(E) None of the above

22 /MIV/M-2023-06/S2 (M)/06-A

E-3. Human Development Report,
published by UNDP, compares
countries on the basis of
(A) per capita income
(B) health status
(C) educational levels of the

people
(D) More than one of the above
(E) None of the above

E-4. Economic development by
maintaining the natural
resources for present and
future generations is called
(A) planned development
(B) sustainable development
(C) human development
(D) More than one of the above
(E) None of the above
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PART—III

( ECONOMICS )

E-1. Rygg-wg

E-2.

(A) 38 fomw ¥ # a1 g 1000
Sifod =t % o/gUd % ®9 A
TF Y I AY W e W ATl
EiEa kel

(B) 3@ fom =¥ # %1 gu 1000
Sifad s=af & ITgad % ®I H

ufe a9 I A U TEel B ATel
T Shl T

(C) 3@ fovw a¥ # a1 g 1000
Sifad st o A % &9 H
TE T A MG W Ted W 9T
= G

(D) 3w | ° T ¥ Al

(E) 39w 8§ & *18 e
I T FA I R I SHEET H

fofSa = ® 9w 1= w1 wET S
H

() T T

(B) Tehel W 3 (Sfro Eho o)
(C) wfd =ik

(D) 3 U | T U Afusw

(E) 3o & & g Tl
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E-3. Jo Tio o o W YwIRM HHA

E-4.

foepra fie @ STt 1 g fohe eTmuw
T H T &7

(A) wfd =aRE

(B) ameew &t feufa

(C) At =t fnear &R

(D) 37w W 4 & ° Al

(E) 3w | ¥ *I5 T

A 3R et difedt & fow urpfas
Al Bl o0 TRt A1 faemma
FAT FHEATT &

(A) frnfsa feerma

(B) @ad e

(C) =Ha forebra

(D) 3IWw § | T ¥ Al

(E) 3o & & i3 Tef
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E-5. The total number of children

E-6.

E-7.

of age group 6-10 attending
school as a percentage of total
number of children in that age
group is called

(A) gross enrolment ratio

(B) net attendance ratio

(C) net enrolment ratio

(D) More than one of the above

(E) None of the above

Which of the following activities
does not belong to the primary
sector?

(A) Transport

(B) Fishing

(C) Banking

(D) More than one of the above

(E) None of the above

As per Census 2011, which of
the following districts have
maximum rural literacy rates
in Bihar?

(A) Rohtas and Aurangabad
(B) Siwan and Purnea

(C) Saharsa and Siwan

(D) More than one of the above

(E) None of the above
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E-8.

E-9.

E-10.

Which of the following does not
fall under unorganized sector?

(A) A teacher teaching in a
school

(B) A daily wage labourer
working for a contractor

) A handloom weaver
working in his/her house

(D) More than one of the above

(E) None of the above

The terms of credit along with
collateral includes

(A) interest rate

(B) mode of repayment

(C) documentation requirement
(D) More than one of the above

(E) None of the above

Removing trade barriers or
restrictions set by the govern-
ment is known as

(A) globalization

(B) privatization

(C) disinvestment

(D) More than one of the above

(E) None of the above
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E-5. 6-10 g-a & Fd o= § 4 Thed

E-6.

E-7.

ST a7l STt < AT fowTd sl et
ST ®

(A) et THIF ST
(B) s 3ufeafa T
(C) & AHHA T
(D) 3IWw H & TF ¥ ik
(E) 3w & & *18 7

fefafgd & § ®E-H Tl
WA &5 ¥ wated T8t 8 f

(8) it

(B) W&t whe

(C) s

(D) 37w 4 & T U Afus

(E) 30w & & 18 T

2011 i ST % HIER, foer &

fefafas & @ frea @ & oo
Il X gel 14 27

(A) TEdmE IR AT
(B) e e gfofar

(C) Tewd iR fram

(D) 37w U 4 T U Afus
(E) 394 # & =I5 7

22/MIV/M-2023-06/S2 (M)/06-A

E-8.

E-9.

E-10.

FfaRad § € ®HF-91 TS & &
ATl T AT &7

(A) e § uerdt s renfye

(B) 3%eR & ol &M & 9Tl Th
feeret weig

(C) 3 =R H HM & dTel /et
RETCIRECEN

(D) 37w & T U Afuw
(E) 30w | © %15 T

0T 1 Td § @UTiEde (collateral)
Hfga i 2

(A) =S R

(B) Gt =1 i

(C) TEATASIERT it ATITHAl
(D) 3IWw § | T ¥ Al
(E) 3udeh & & *18 7

g g fuifa smor srenst
PINECIRCARCAE I TG I

(A) R

(B) st

(C) fafem

(D) 3T U 4 T U Afuw
(E) ST # & i Tl
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E-11.

E-12.

E-13.

Consumer right to seek

redressal includes

(A) right against unfair trade
practices

(B) right against exploitation

(C) right to continue to receive
the service or not

(D) More than one of the above

(E) None of the above

Which of the
statements is true
COPRA?

following
about

(A) It refers to enactment of
the Consumer Protection
Act, 1986.

(B) Under COPRA, two-tier
quasi-judiciary machinery
was set up.

(C) COPRA applies
goods.

only to

(D) More than one of the above

(E) None of the above

Which of the following
schemes is introduced by Bihar
Government to reduce poverty?

(A) MGNREGA

(B) JEEViKA

() MMUY

(D) More than one of the above

(E) None of the above
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E-14.

E-15.

E-16.

Food security is ensured in a
country only if there is

(A) availability of food

(B) accessibility

(C) affordability

(D) More than one of the above

(E) None of the above

Antyodaya Anna Yojana is
linked with

(A) mid-day meal
(B) public distribution system
(C) food nutrition
(D) More than one of the above

(E) None of the above

Underemployment means

(A) when people are not willing
to work

(B) when people are working
less than what they are
capable of doing

(C) when people are not
working properly

(D) More than one of the above

(E) None of the above

T I (TR R R LR



E-11.

E-12.

E-13.

fHamor ar % IusihT STfUeRR % STarq
T 2

(A) T =R FRYUTEA % foeg
ATIRR

(B) i % fareg siferem

(C) T&m 9TH AT SR T A1 T W
T ATIRR

(D) 3Ww H ¥ TF ¥ ik
(E) 30w & & 18 e

fafafad § @ S9-91 99 COPRA
% aR o g 27

(A) J& IudrRr  oReAwr  eferfem,
1986 & Afafma 1 wehiq
AT 2

(B) COPRA % d&d aI-%@{™d 14-
TR TR Tefud it T
off |

(C) COPRA %@ F&gall W TN
B B

(D) 37w ¥ & & ° Afeh
(E) 30w | ° %5

Tt 1 = & fou foer wwer g
frefafaa @ @ ®E-d T gE A
T 77

(A) MGNREGA

(B) JEEViIKA

(C) MMUY

(D) 37w U | T U Afw
(E) 30w & & g e
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E-14. freh 3w § @m gean aoft gihfaa @t

E-15.

E-16.

g, 5«

(A) ¥ISH <l SucTsyrdt &t
(B) stfnreEn &

(C) wmeAd &

(D) 37w ¥ 4 & ° Aferw
(E) 39 | 9 &g 7

Icled 1 I et 2

(A) TEATHR ER o

(B) wrdstten forawor qoreft &
(C) @Ta Twor |

(D) 3T ¥ 4 T U Afus
(E) 30w o & 18 T

TSR o1 21 §
(A) ST TN T FA o ToFH ol ©

(B) & M AU WAl | HH HH
@ A

(C) & & Stk @ i T W R
(D) 37w U 4 T U Afuw
(E) 3w | ¥ *I5 T
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E-17.

E-18.

Which of the following
conducts five-yearly survey on

employment level in the
country?
(A) National Sample Survey

Organization (NSSO)

(B) Census of India

(C) Ministry of Labour and
Employment

(D) More than one of the above

(E) None of the above

Choose the right order of the
contribution of sectors to the
GDP from highest to lowest.

(A) Tertiary,
agriculture

manufacturing,

(B) Agriculture,
manufacturing

tertiary,

(C) Manufacturing, agriculture,
tertiary

(D) More than one of the above

(E) None of the above

22 /MIV/M-2023-06/S2 (M)/06-A

E-19.

E-20.

E-21.

The process of globalization has
been facilitated by

(A) liberalization of trade and
investment policies

(B) growth in
sector

agriculture

(C) high tariff rate
(D) More than one of the above

(E) None of the above

The money spent by MNCs to
buy assets such as land,
building, etc., is called

(A) domestic investment

(B) foreign exchange

(C) foreign investment

(D) More than one of the above

(E) None of the above

An asset that the borrower
uses as a repayment guarantee
to a lender is termed as

(A) advance

(B) deposit

(C) collateral

(D) More than one of the above

(E) None of the above
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E-17. ffafaa § @ &9 29 4 U9 &1 E-19.

TGN T Shidl 27

(A) T ufdest wdew wEA (THo
THo THo 31ﬁo)

(B) R@ ohl STRTUET

(C) M Td USITR HATeTT

(D) v # @ T & st £-20.
(E) 39w 8§ & *I8 e
E-18. ¥%d 9 3 H &1 & AMEH H
IAH ¥ a9 a% &1 98l wE gHT|
(A) Q’cﬂ'ﬂﬁﬁéﬁ?,ﬁﬂfﬂ?ﬁ?,ﬁ&}ﬂ E-21.

(B) Ffy &, geftres &, fmfor &=

(C) frafor &=, Ff &=, e &t

(D) 3w § 4w U Afusw

(E) 30w & ¥ 18 e

SefieRtor it Ufsha B g SR R

(A) =mR R fEw i ®
IR A

(B) &fv &= # ghg A

(C) 3= 2f® A

(D) 37w 4 & ¥ Afw
(E) 3wtk & & 18 7

St guf Efter & fow @ foen mn
¢ AT &

(A) e e

(B) foeeft gz

(C) faasft fam

(D) 37 U & T U Afuw
(E) 30w # 4 =g 78

Th giEgf S8 IUTeRdl sRurerar s
AT TR % ®T 3T T B,
3 e I 8

(A) =Afm

(B) ST Tfst

(C) wurt¥=

(D) 37w U 4 T U Afusw
(E) 39w o & 18 T
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E-22.

E-23.

E-24.

Which of the following is not
true about Barter system?

(A) Availability of money as a
medium of exchange

(B) Double coincidence of want

(C) Presence
exchange

of goods for

(D) More than one of the above

(E) None of the above

The functioning of formal
sources of credit is supervised
by

(A) the Central Government
(B) the Ministry of Finance
(C) the Reserve Bank of India
(D) More than one of the above

(E) None of the above

Which of the following
false
growth rate of Bihar?

(A) The growth rate of Bihar
economy was 5% in
2017-18 while the growth
rate of national economy
was 7%.

(B) In 2016-17, the highest
growth rate was recorded
by tertiary sector.

(C) In 2016-17, the highest
growth rate was recorded
by manufacturing sector.

statements is about

(D) More than one of the above

(E) None of the above
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E-25. means lowering the
quality of a food substance by
adding another substance.

(A) Low quality product

(B) Adulteration

(C) Blending

(D) More than one of the above
(E) None of the above

E-26. Marketing of goods and services
which are hazardous to life and
property is covered under
(A) Right to be protected
(B) Right to be informed
(C) Right to be assured
(D) More than one of the above
(E) None of the above

E-27. Which of the following is the
important characteristic of
modern form of currency?

(A) It is authorized by the
government of the country
(B) It is made up of precious
metal
(C) It is issued by commercial
banks
(D) More than one of the above
(E) None of the above
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E-22. a&g-fafm yomeft & ar # fefafaa

E-23.

E-24.

o 9 ®HH-91 g TE 27

(A) fafma & meam & w0 4 g7 H
T

(B) =131l ol Sreq T

(C) e & fau axgsti @it
YTl

(D) 3IWw H & TF ¥ ik
(E) 30w | © *IE

FO o INUSNER Hidl & HIHbTS
et gt 9t R)

(A) g THR

(B) ford womer™

(C) v ford S

(D) 37w W | T ° Al
(E) 37w & & 1 T

foer R o € & an § fefafaa
T ¥ HH-91 HAT Ted &7

(A) 2017-18 # foer @i srefawen
#i fawm @ 5% off Jafs aga
refeaE it T & 7% oft|

(B) 2016-17 ® qdRe® &5 3W
I foh™ TS A T

(C) 2016-17 ® fTmwm & 3™
= fomrma & gt i T2

(D) 37w W 4 & ° Afeh
(E) ST 9 8w 7
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E-25.

E-26.

E-27.

_ wmr od ' ol werd #
g 3 vare fHetmeRt Iuehl TurET
T |

(A) = TUERT AT 3R

(B) fucrmae

(C) wfesm

(D) 30w H ¥ TF ¥ ik

(E) 3wtk # & *1g 7

Sftem 3R wufd % g @ams awgat

3R garett 1 fagoe & i
1T R

(A) TfEd gH 1 AfUER
(B) gf¥d g =1 Afir
(C) 3Ta&d B I ATTHR
(D) 37w 4 & ° Afuw
(E) 394 & & rg 7

frfafad & & ga1 & nygfre w9 i
o -H HEwEqul forrear 27

(A) TE 3% hl GEHR g Aferepa B
(B) =g shimdt org & = 2

(C) =g arfurfeyes sepi gR1 SR fopem
ST B

(D) 37w 4 T U Afw
(E) 3w | ° *I5 T
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E-28. Which of the following countries

E-29.

E-30.

ranks above India in HDI
according to Human Develop-
ment Report, 20237

(A) Pakistan

(B) Nepal

(C) Bangladesh

(D) More than one of the above

(E) None of the above

Which of the following is a
renewable resource?

(A) Groundwater

(B) Natural gas

(C) Petroleum

(D) More than one of the above

(E) None of the above

Economic activities are classified
into public and private sectors
on the basis of

(A) nature of economic activity

(B) ownership of assets and
delivery of services

(C) number of workers in an
enterprise

(D) More than one of the above

(E) None of the above

22/MIV/M-2023-06/S2 (M)/06-A

E-31. Which of the following districts
of Bihar has more than

25 percent decadal growth rate

of population (2001-2011)?

(A) Darbhanga

(B) Siwan

(C) Nawada

(D) More than one of the above

(E) None of the above

E-32. Which one of the following
is not an objective of ‘River

Ranching Programme’?

(A) Collection of fish brooder
from rivers and artificial
breeding of  collected
brooders

(B) Stocking of the fish
fingerlings into identified
rivers

(C) Restoration of pure germ-
plasm in the identified
rivers

(D) More than one of the above

(E) None of the above
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E-28. #ra faw@ fu, 2023 & IgER

E-29.

E-30.

frefafaa § @ wH-a1 31 T=o o
3o H 9N ¥ I 27

(A) iR

(B) et

(C) smae

(D) 30w H ¥ TF ¥ i
(E) 394 # & rg 7

fafafgd @ 9 wF-w w Tt
A 27

(A) STt
(B) wreRfdh T
(C) uiferam

(D) 3w H & T | ik
(E) 39w 8§ & *I8 e

arifsier mifafafern =+t forees smam @
s R it & # afiopa form
ik

(A) il TR T

(B) ufedfn &1 @nfies i danet
ERSSIER

(C) Toreft 3em © sftrnt it W
(D) 37w U & T ° Afeh
(E) ST 9 8 *E 7
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E-31. ffafaa § @ foer & form o i

SAEE (2001-2011) 6 SwERN
Fhg | 25 ufderd & 1feres 77

(A) T

(B) Tam

(C) @

(D) 3IWw § | TH ¥ Al

(E) 3w | ° %15 T

. fefafea & 8 &F-w & wyoer

FREH I TE a7

(A) T @ #Eel g H R IR
TR S P HOH TSHT

(B) #aet & s=i ot fufga afewt @
STHT oh{HT

(C) Tafga afedt § g& Swwsa &
El

(D) 30w H ¥ TF ¥ ik

(E) 3w | ¥ *I5 T
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E-33.

E-34.

‘Liquid funds’ are a safe option
for investors from the point of
view of volatility and risk of
losing capital. Which of the
following statements is correct
with respect to liquid funds?

(A) Liquid funds are money
market instruments.

(B) Liquid funds are -equity
funds.

(C) Liquid funds are regulated
by SEBI.

(D) More than one of the above

(E) None of the above

The money value of all final
goods and services produced
within a country during a
particular year is called

(A) gross domestic product

(B) national income

(C) net domestic product

(D) More than one of the above

(E) None of the above

22/MIV/M-2023-06/S2 (M)/06-A

E-35. Which among the following
statements about National
Multidimensional Poverty Index
is correct?

1. It 1is the nationalized
version of the Global Multi-
dimensional Poverty Index.

2. NITI Aayog is the nodal
agency for the Multi-
dimensional Poverty Index
(MPI).

3. The Baseline Report of MPI
is based on the fourth
National Family Health
Survey (NFHS).

Select the correct answer.

(A) Only 1

(B) Only 2

(C) Only 3

(D) More than one of the above

(E) None of the above

E-36. The purpose of Central & State
Warehousing Corporation is
1. to provide storage facilities
2. to provide raw materials
3. to provide new farming

tools

4. to provide fertilizers

Select the correct answer.

(A) Only 1

(B) Only 1 and 3

(C) Only 3

(D) More than one of the above

(E) None of the above
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E-33. Jferal 3R S @M % Sifed &

E-34.

gfeemr @ ‘fafere wg’ st & forg
wF giwa fases 21 fafre we &
gey ° fefafaa @ @ FE-w wem
B

(A) fofere we g1 a9 & @1 2|
(B) ffere we sferdt we 2|

(C) fafere we =t o=t g fafafia
fepan St 21

(D) 37w W & & ° Aleh

(E) 30w | © %15 e

foreft fomiw o & 4w foreft dm &
fi 3eafea @t Sifom awged oR
Yaratt =1 M5 Yoo Feard &

(A) THd =] 3G
(B) T
(C) & e 391

(D) 37w U & T U Afw

(E) 3o & & i3 7
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E-35. U¥H SgeTml el oo & an H

frafafaa @ @ wF-a1 Fom g 27

1. ¥ diare SgARml s g
1 T T B |

2. Hfifd W agemm TR
gaHiE (THo o 3TF0) F forg
Jred TS 7

3. uwHo o Mo I dHwTE T
@Y T URER WReT gae
(QT-[O Tho Tdo QHO)W@TW
2l

TE I HT T FIfS|

(A) a1

(B) waa 2

(C) a3

(D) 37w 4 T ¥ Al
(E) 30w & & g e

. FEE T T wenw o/

3 B/

1. o SR Giagmd &M e
2. Al "I 3UcTsY h{HT
3. T FHN 3T 3T FHIAT
4. Wiq 39cisy hiHEl

TE W T I FIfeT |

(A) a1

(B) %aat 1 3R 3

(C) %aa 3

(D) 37w ¥ 4 & ¥ Afew
(E) 3wtk # & 18 7
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E-37.

E-38.

E-39.

Which of the following

statements is true in the

context of money supply in

India?

(A) M3 is the most liquid
money supply measure.

(B) M2 is the most liquid
money supply measure.

(C) M1 is the most liquid
money supply measure.

(D) More than one of the above
(E) None of the above

Which of the following is the
feature of the climate resilient
agriculture = programme in
Bihar?

(A) Introduction of cropping
system based on timely
planning of crops as per
the developed crop calendar

(B) Best management practices
for water, nutrition and
weed

(C) Feasible crop diversifica-
tion as per the available
soil and climate conditions

(D) More than one of the above
(E) None of the above

Choose the correct objective of
the Bihar Start-up Policy, 2022
from the following.

(A) Support start-ups by seed-
funding as well as match-
ing grants to increase their
viability

22/MIV/M-2023-06/S2 (M)/06-A

(B) Encourage entrepreneur-
ship through education by
introducing learning
modules in the university/
schools

(C) Facilitate development of
new and support expansion
of existing incubators/
common infrastructure
spaces/co-working spaces

(D) More than one of the above

(E) None of the above

E-40. Which one of the following is
not correct according to the
Consumer Protection Act?

1. District Forum shall consist
of a lady social worker

2. State Commission shall
consist of a person who is
or has been a Judge of a
High Court

3. District forum shall
consist of four members

4. National Consumer Dis-
putes Redressal Commis-
sion shall consist of a
person who is or has been
a Judge of the Supreme
Court

Select the correct answer.

(A) 1

B) 1 and 4

€ 3

(D) More than one of the above

(E) None of the above
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E-37.

E-38.

E-39.

w A omm oamE % oded
Frerferfias & & F-a1 Hom we 27

(A) M3 qa9 s @ gg1 A
19 2|

(B) M2 @& e @ Ha1 SAYfd
M9 21

(C) M1 "o e T g1 g
9 2

(D) 3 U | T U Afuw
(E) 30w & & 18 e

fafafed & @ #9-t foer § Soems-

it Y wriwn A forsrvar 27

(A) forfd wOd Folgl & ITFER
FHAT sl AT T AT & 3TMER
T HAA Tt T I

(B) ST, TN 3R EIUGER % forw
ot Jee Tgfaat

(C) ey fagt R Sy
aftferfaet & SgaR =EeE wad
Tarforefiemor

(D) 3Ww H ¥ TF | ik
(E) 39w 8§ & *18 e

ffafegs & @ foer wré-em Hfifq,

2022 1 ¥l I3 T |

(A) -3 F IhH Faerdl e
% foru die-wfen & wy-wy
THM TS R GHeA &1

22/MIV/M-2023-06/S2 (M)/06-A

E-40.

(B) fagfommemi/wgett & fhem
HiS[A I[E hlch & o Wead |
AT BT TedTed BT

(C) Tt T@E & fawm @i
glagsHe 9 3R HiNE
THRE /A g @ 6
T /Tg-hrdefie Tt & e
T THST AT

(D) 3T U & & U Afusw
(E) 3w 8§ & *18 e

IOIET WA SANEE %k ITgER

fafafad 4 @ #F-w1/9 vt 78 7/

&7

1. e ®RA 4 T Afean wmTSe
EgREmiI RSl

2. TS AWM H Uk Ak IMHA
RS R pIceica ke i)
TA@R

3. {5 wiw § =R e B

4, T IudE foame e
T U ARk e B S gais
AT o1 = § A1 @

TE I T = I |
(A) 1

(B) 1 3R 4

(C) 3

(D) 37w 4 T ° A
(E) 37w & & F1 Tf
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P-1.

P-3.

PART—III
( POLITICAL SCIENCE )

Which of the following
languages has been given the
status of national language in
the Constitution of India?

(A) Hindi

(B) Sanskrit

(C) English

(D) More than one of the above

(E) None of the above

The first woman in the Indian
Cabinet was

(A) Sarojini Naidu

(B) Rajkumari Amrit Kaur

(C) Indira Gandhi

(D) More than one of the above

(E) None of the above

The founder of the Swatantra
Party was

(A) C. Rajagopalachari

(B) Subhas Chandra Bose

(C) Chittaranjan Das

(D) More than one of the above

(E) None of the above

22/MIV/M-2023-06/S2 (M)/06-A

P-4.

P-S.

P-6.

The basic approach of nation-
building does not
which of the following?

include

(A) Regional issues will receive
adequate  attention in
policy-making

(B) United social life without
losing distinctiveness of
various cultures

(C) Considering
expression  of

political
regional

aspirations as anti-

national
(D) More than one of the above

(E) None of the above

The Constituent Assembly
adopted the Constitution on

(A) 26 November, 1949

(B) 26 January, 1950

(C) 15 August, 1950

(D) More than one of the above

(E) None of the above

Who among the following
was the Vice Chairman of the
Constituent Assembly?

(A) H. C. Mukherjee

(B) K. M. Munshi

(C) Chittaranjan Das

(D) More than one of the above

(E) None of the above
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P-1. ¥Nd % |iagW § fwfafad o 9 e

P-2.

P-3.

PART—III

( POLITICAL SCIENCE )

TST T TLATST T &1l T T 27
(A) fe=i

(D) 37w ¥ 4 & ° Afh
(E) 3wt # 9 i &

IR hfoe H ugell Afgan off
(A) s g

(B) TSTEHHI 3 HR

(C) gfex wrieht

(D) 3w 4 & & U Afusw
(E) 3ueh & & *18 7

T i % w9

(A) Hio TSFTITETETS

(B) g == 9™

(C) ToisH T

(D) 37w ¥ & & ° Alh
(E) 3wtk # & *1$ 7

22 /MIV/M-2023-06/S2 (M)/06-A

P-5.

P-6.

P-4. Tg-fW0 o smuma w0 § R

gfrfed =&t 87

(A) Hifa-fmfor & &= ggf W w=@im
IERCOIRSIEI

(B) fafirar wwpfaat it faftreaeti =i
B o T amTfore e

(C) &t ereRiemtati it T
Afireath ot T -Taeft AT

(D) 3IWw H & TF | ik
(E) 30w | ° %15

Gfgem |1 3 dfga w1 iR o
(A) 26 FFER, 1949 =

(B) 26 SHadt, 1950 =

(C) 15 31w, 1950 =

(D) 3IWw § | TH ¥ Al

(E) 3wtk # & *1g 7

T O B Fiage a9 § 3urega A7
(A) T Hio Fasi

(B) o wio 7t

(C) ToiH T

(D) 39w H ¥ T* ¥ M

(E) 3wtk # & *1$ 7
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P-7.

P-8.

P-9.

The Directive Principles of State
Policy have been borrowed from
the

(A) Canadian Constitution

(B) Irish Constitution

(C) British Constitution

(D) More than one of the above

(E) None of the above

Which of the following is
related to the State Election
Commission?

(A) The 73rd Constitutional
Amendment Act

(B) The 67th Constitutional
Amendment Act

(C) The 54th Constitutional
Amendment Act

(D) More than one of the above

(E) None of the above

Which of the following is true
about elections in India?

(A) Universal Adult Franchise
(B) Multiparty System

(C) Independent Election
Commission

(D) More than one of the above

(E) None of the above

22 /MIV/M-2023-06/S2 (M)/06-A

P-10.

P-11.

Identify the false statement.

(A) The first general election of
the Lok Sabha was held
in 1951.

(B) Ballot papers with name
of all candidates
constituency were used for
elections in
Independence.

in a
India since

(C) The method of voting using
Ballot papers was replaced
by Electronic Voting
Machines starting from the
end of the decade of 1990.

(D) More than one of the above

(E) None of the above

Which of the following is
related to ‘Mandamus’?

(A) The court finds that a
particular office-holder is
not doing his/her legal
duty and is infringing on
the right of an individual

(B) If the court finds that a
person is holding office but
is not entitled to hold that
office, the court restricts
that person from acting as
an office-holder

(C) The court orders that the
arrested person should be
presented before it

(D) More than one of the above

(E) None of the above
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P-7. T4 % Hfifd fewe o= fow mu €

P-8.

P-9.

(A) TSI % WU A
(B) RIS % Higem™ &
(C) fufewr wfqum @

(D) 37w U & T U Afh
(E) 39 o & 18 T

fafafga @ @ e o U
AT AT 9§ 77

(A) 73T Giaem anea Aty
(B) 67af Gfaum guned Aty
(C) 54at dfau™ e fefem
(D) 30w H ¥ TF ¥ ik

(E) 3w § & &8 T

IRd § gAE & gy § fefafea ®
A FHH-T1 qT 77

(A) WTEH TR HATRR

(B) gl rwn

(C) Tada fHatem s

(D) 3w § & % & ek

(E) 39w o & 18 T

22/MIV/M-2023-06/S2 (M)/06-A

P-10.

P-11.

ST FHUT Sl TgAH hIfoTT |

(A) @RENT FH YA AW FAE TN
1951 ¥ 3TIfSA g3t |

(B) A1 % A& ¥ & 9Rd § gAEl
F fou s fafem a7 & @sf
TRl 6 AW At JA-US Sl
3T B T 2

(C) 1990 & <& & 3d 4
g difen wefiAl & g
Tq-TS ¥ AdeM TRl &
feremmam it yeeTa g

(D) 37w U 4 & U Afusw
(E) 3w | ° *IE e

famfafaa 4 9 free grry ‘gwaew’
qgr

(A) FeE ' d@ar 2 R wE
TRIERRT 1o Ttk wde @
T W w2 R R =te &
SRR 1 3fH @

(B) aft =mmerd # g gaT @ 2
fr =5 =t et we-famw =
IR A T SAEHE A B g
+ff 38 98 il 9nw fRU gUE, @
AT 39 ATk ol YSURH aH
T Uk Tehell &

(C) =™e™ g ey <al ¢ T
firgare = w1 3o g
3Iutera fem Se

(D) 3IWw H & TH | ik
(E) 30w | ¥ *I5 T

65 I NN TR mm  p.T.o.



P-12.

P-13.

P-14.

Article 324(1) of the Indian
Constitution is related to

(A) the Vice President

(B) the Election Commission
(C) the Judiciary

(D) More than one of the above
(E) None of the above

Which of the following
statements is false about the
Union List?

(A) The Union List includes
the subjects of national

importance such as
defence, foreign affairs,
banking.

(B) These subjects are

included in the Union List
because we need a uniform
policy on these matters
throughout the country.

(C) Only the Union Govern-
ment has the right to
make laws regarding the
subjects mentioned in the
Union List.

(D) More than one of the above
(E) None of the above

Which State elected the first
non-Congress State Govern-
ment in India?

(A) Uttar Pradesh

(B) Kerala

(C) Bihar

(D) More than one of the above
(E) None of the above

22 /MIV/M-2023-06/S2 (M)/06-A

P-15. Which of the following
statements is true about the
basic structure doctrine?

(A) This is an Indian judicial
principle.

(B) This doctrine is based on
the Supreme Court of
India’s decision in the case
of Kesavananda Bharti.

(C) This doctrine applies only
to constitutional amend-
ments.

(D) More than one of the above

(E) None of the above

P-16. Consider the following
statements regarding planned
development model of India
and pick out the statement
which is not correct.

(A) This model was inspired
by the USSR model of
development.

(B) The draft document of the
First Five-Year Plan was
released in the year 1951.

(C) P. C. Mahalanobis was
the architect of the First
Five-Year Plan.

(D) More than one of the above

(E) None of the above
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P-12.

P-13.

P-14.

IR |fage #1 egess 324(1)
rafed 2

(A) ST |

(B) Tratem s @

(C) =mTfeTshT &

(D) 37w U | T U s

(E) 3% & & IS e

g gt & foww A fefafed & @
FIT-T1 FHAT A 27

(A) @9 T # e, fooeft A,
St S T wed o faw 2

(B) R I % foiw 37 wwelt # T dE
# it f smawEwar 71 g
FRO W o @ oww g oA
Tl T 2 |

(C) @& §=H # affa faw=i & sm #
FT T H ABR Faed s
TCHT 2

(D) 37w W 4 T ° Afh
(E) 39w § & *I8 e

foFe TS" 4 WRA § ugell TR-siuHl
TSI TR I FAT?

(A) IW I

(B)

(C) faer

(D) 3Ww H ¥ TF | ik
(E) 3T & & 1< 7

22/MIV/M-2023-06/S2 (M)/06-A

P-15.

P-16.

ARy "= e & faw od
fafafaa & 9 #F-w1 wom v 77

(A) T2 T IR =fes frga 2|

(B) =2 fogra wame wrdl *a o
TR & Har= e & [y
T3y 2l

(C) =2 fagra Faa Gaenfaes demeHt
T AN BT B

(D) 37w U 4w U Afuw

(E) 3w | ¥ *I5 T

ad o fsra faema Afed & ded |
Fefafga st w fomm s qen
TeTd A 1 TgaTHT |

(A) I uiea faem & USSR Hisd
T Uftq o)

(B) YoM UeEdlg ASHT kYR
EES A 1951 § S fRe

RIRIRIN

(C) o Hio T Wow w=Eiy
FISHT % ATEGHR I |

(D) 3T ¥ 4 T U Afus

(E) 3w | ¥ *I5 T
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P-17.

P-18.

P-19.

According to the Constitution,
the Union Legislative Body is
called

(A) only the Lok Sabha

(B) only the Rajya Sabha

(C) the Parliament

(D) More than one of the above

(E) None of the above

The Parliament
which of the following?

(A) The President

(B) The Council of the States
(C) The House of the People
(D) More than one of the above

(E) None of the above

Which of the following
statements is true about the
Indian politics in post-1990?

(A) It is the
consensus on
reforms.

period of
economic

(B) It is the period of coalition
governments.

(C) It is the period of rising
of regional aspirations for

autonomy outside the
Union.

(D) More than one of the above

(E) None of the above

22 /MIV/M-2023-06/S2 (M)/06-A

consists of

P-20.

P-21.

P-22.

According to which Article of
the Indian Constitution, it is
obligatory for government to
promote welfare of the Other
Backward Classes (OBC)?

(A) Article 356
(B) Article 340
(C) Article 249
(D) More than one of the above

(E) None of the above

Who among the following is
involved in the Amendment of
the Indian Constitution?

(A) The President

(B) The Parliament

(C) The Judiciary

(D) More than one of the above

(E) None of the above

Can the same person be
appointed as the Governor of
more than one State?

(A) Yes

(B) No

(C) Only on temporary basis
(D) More than one of the above

(E) None of the above
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P-17. €f9gW o gaR, @eE faurh fam

P-18.

P-19.

1 e A &

(A) Fa AHA

(B) had TsIHl

(C) @we

(D) 37w U 4 T U Afw
(E) 3w § & &8 T
fafafes & & dog % ofafd =.
3T &7

(A) g

(B) T=T@T

(C) Arsha

(D) 30w H ¥ TF ¥ i
(E) 3ueh & & *18 7

1990 % T¥ETd, WRA™ TSHI I 6
fawr § fafafes & @ ®F-91 ®om
HE 87

(A) TE T guri W W TeHfd
1 T B

(B) ¥ TEH N 1 I

(C) o2 T9 & TR WEEd & o
Wit SATeRieedt o gfg w1 3 2

(D) 3w H & TF ¥ ik

(E) ST 9 8w 7

22/MIV/M-2023-06/S2 (M)/06-A

P-20. 9RdE Gloum & fre og==e &

P-21.

P-22.

AR, I fUme oM F weamr wH
AT T TR & fog Afes 27

(A) 3TI=33 356

(B) 31g=83 340

(C) 31g=s8 249

(D) 37w § ¥ TF ¥ M
(E) 39 | 9 =18 T

ffafad # & W 9Rd™ |loau™ %
Teleq ® afeifed g 87

(A) Tregafa

(B) ©we

(C) —rafeteht

(D) 37w § & T ¥ Afew
(E) 3udw & 4 =g 7

FT TH g ARE w TH G AfE T
1 T T foram ST Tekar 27

(A) =

(B) &

(C) ot drR & A
(D) 37 U & T U Afw
(E) v & 4 *r§ 78
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P-23.

P-24.

P-25.

The Concurrent List is
mentioned in the

(A) 5th Schedule
(B) 8th Schedule
(C) 7th Schedule
(D) More than one of the above

(E) None of the above

Universal Suffrage means that
the right to
restricted by

vote is not

(A) caste or sex

(B) belief

(C) wealth

(D) More than one of the above

(E) None of the above

Who among the following is
appointed by the President of
India?

(A) The Chief Justice of India

(B) The Judge of the High
Court

(C) The State Election
Commissioner

(D) More than one of the above

(E) None of the above

22 /MIV/M-2023-06/S2 (M)/06-A

P-26.

P-27.

P-28.

The Article 280 is related to

(A) the Union Public Service
Commission

(B) the Bihar Public Service
Commission

(C) the Finance Commission
(D) More than one of the above

(E) None of the above

The Fundamental Duties were
included in the Constitution on
the recommendation of which
Committee?

(A) Swaran Singh Committee

(B) Shah Committee

(C) Justice Verma Committee
(D) More than one of the above

(E) None of the above

Which country has the ‘first-
past-the-post’ system?

(A) Canada

(B) India

(C) United Kingdom

(D) More than one of the above

(E) None of the above
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P-23. THad! gt 1 3W B P-26. 31J=3¢ 280 Trf2d 8

(A) ur=dt gt | (A) ©H R |1 TR
(B) el srgeeh | (B) forer ik & e &
(C) dradi Tgg=t # (C) formr s @

(D) 37w U & T U Afh (D) 37w § 4 T ¥ Afw
() 37w & & 18 e (E) =tk & & 1€ e

P-24. HEHH Hareerr o 19 a8 ' 6 A1q P-27. WHifas hdsal w1 fhE "iEufq i

3 = At feta 72 g 2 fowTier W wfaem § Ser m?
(A) ifa = fom & (A) @i fag |fdfa

(B) e @ (B) e @fufa

(C) umfa & (C) ifeewm =mt wfufa

(D) 30w H ¥ TF ¥ ik (D) 3IWw H ¥ TF | ik
(E) 3w § & &8 T (E) 39 | 9 &S 7

P-25. f=fafad & @ fradhl fghe wwa & P-28. fFg a9 § ‘HE-URe-3-UE’ yuIedt

Tyt gRT T ST 27 27

(A) 9RA % G&F =R (A) TS

(B) 3= =TS o =AmEEftSr (B) wRd

(C) Tsa A AR (C) TEes frren

(D) 3w § ¥ TF ¥ 3feren (D) 3w § ¥ TF ¥ 3feren
(E) Swith # & =g 7 (E) 37w & ¥ 18 T
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P-29.

P-30.

P-31.

In which State was Anti-Arrack
Movement started?

(A) Andhra Pradesh

(B) Kerala

(C) Odisha

(D) More than one of the above

(E) None of the above

Bills which exclusively contain
provisions for imposition and
abolition of taxes are certified
as

(A) Money Bill

(B) Finance Bill

(C) Ordinary Bill

(D) More than one of the above

(E) None of the above

Who among the following does
not believe in the
democracy?

idea of

(A) Liberalist

(B) Fundamentalist

(C) Socialist

(D) More than one of the above

(E) None of the above

22/MIV/M-2023-06/S2 (M)/06-A

P-32.

P-33.

P-34.

Who wrote the play, The Apple
Cart to point out the
inconsistencies within a
democracy?

(A) William Shakespeare

(B) George Bernard Shaw

(C) Mulk Raj Anand

(D) More than one of the above

(E) None of the above

Who wrote the book, The
Burden of Democracy?

(A) Mahendra Prasad Singh
(B) Pratap Bhanu Mehta

(C) Paul Brass

(D) More than one of the above

(E) None of the above

Who drafted the Constitution of
India?

(A) British Parliament

(B) Governor-General-in-
Council

(C) Constituent Assembly of
India

(D) More than one of the above

(E) None of the above
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P-29. qE-foet st=iem H yEeTd foRd

P-30.

P-31.

TS | g7

(A) 3Ty e

(B) ¥«

(C) enfesm

(D) 3T U 4 & U s
(E) 39 o & 18 T

w0 g, S T 9 @ R @
U o qEIY ¥ gl T 2 8,
3= forg Aot § T Srar 87

(A) == fag=s

(B) foa faee

(C) wrurYr fagee

(D) 30w H ¥ TF ¥ 3
(E) v & A =g 7
frfafad & 9 fraen e % foem
7 foama & 27

(A) 3ewET

(B) hzwueft

(C) wHISETEl

(D) 37w U & T U Afuw
(E) 3T 7 & hIg T

22 /MIV/M-2023-06/S2 (M)/06-A

P-32. @A % IAGUEl H 3A@ FH H

P-33.

P-34.

fou e T e w1 AW A
Toran?

(A) Taferm seafer

(B) Sifst st =¥

(C) e T 1T

(D) 3IWw H ¥ TF | ik
(E) 3% # & hIE T

‘T FE 3% SHEHHl e JE®
forem foreht?

(A) wers wHE fie

(B) WY W W

(C) i s

(D) 39w W 4 & ° Aleh
(E) v o @ =g 7

IRd o Hfae™ 1 fohe sam?
(A) fafes gug

(B) TER SIS sl Ui
(C) wRa st Gigem™ aun

(D) 3w H & TF | ik
(E) v & 4 =g 78
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P-35. Which of the following P-38. Which of the following is the

countries introduced Universal most decent form of power
Adult Suffrage for its struggle in a democratic polity?
democratic polity from the very ‘

beginning? (A) Election

(A) Britain (B) Revolt

(B) France (C) Mass movement

(C) India (D) More than one of the above
(D) More than one of the above (E) None of the above

(E) None of the above
P-39. Who among the following is

P-36. Which of the following credited with deep-rooting of
countries is considered to have democracy in India?
a  majoritarian  democratic

i (A) Jawaharlal Nehru
polity?

(A) Sri Lanka (B) Mahatma Gandhi

(B) Britain (C) Charu Majumdar
(C) South Korea (D) More than one of the above
(D) More than one of the above (E) None of the above

(E) None of the above

P-40. Who among the following
theorists sought to replace
the term ‘democracies’ with
‘polyarchies’?

P-37. Which of the following is the
lowest level of Government in
India?

(A) Cantonment Board (A) Harold Laski

(B) Panchayats (B) George Sabine

(C) Municipal Corporation (C) Robert Dahl
(D) More than one of the above (D) More than one of the above
(E) None of the above (E) None of the above
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P-35. Tr=fciflaa o @ fFd 2o 4 ushew ey

g & AT Ahdiioies ¥ H
AN aIEh HAlgeR An] T

P-38. T clhdli-=ich TS ¥ § &l 999

F goH g YR Fefafed #§ 9
HE-T1 &7

oar?

A) A 3™

(B) wiw (B) feoste

(C) wma (C) 9 3T=IeH

(D) 3T & & wF & s (D) 3T & | wF ¥ sAferw
(E) 3w & & #IE & (E) ST 7 ¥ F 7

P-36. Feffas & ¥ fhu 3w & ws  P-39. T ¥ R WM H wrRa A1 TEd
TEHAATE ATk ST G 1 97 T s 27

BT 9T ST 27 ) -
(A (B) weTew et
(B) fsrea
(C) =& ASHER
(C) =feror it
(D) 37w U 4 T ¥ Afw
(D) 3Ww H ¥ T ¥ ik
. (E) 3udeh & & & 7
(E) S9 # | g T

P-40. W ¥ [0 MEF®R 4 ‘dAedd ¥ea

P-37. ffafad W @ &9-81 9Rd § SR 2 ‘e’
AT T8 W FAHTTH FHLAT AT

1 Fed frere TR 27

(A) e e (A) e A

(B) t=mE (B) SISl Hae

(C) T frm (C) U= gga

(D) 3Ww H & TF ¥ ik (D) 37w U & T U Afw

(E) 3o & & g T (B) 3o # & % T
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